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Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Pakistan
Studies (2059), and to show how different levels of candidates’ performance (high, middle and low) relate to
the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

The questions, mark schemes and pre-release material used here are available to download as a zip file
from Teacher Support as the Example Candidate Responses Files. These files are:

Question Paper 1, June 2015

2059 s15 gp_1.pdf
2059 _s15_in_1.pdf
2059 s15 ms_1.pdf

Question paper
Insert
Mark scheme

Question Paper 2, June 2015

2059 _s15 _gp_2.pfr
2059 s15_in_2.pdf
2059 s15 ms_2.pdf

Question paper
Insert

Mark scheme

For each question there are examples of marked candidate responses each with an examiner comment on
performance. Comments are given to indicate where and why marks were awarded and how additional
marks could have been obtained. In this way, it is possible to understand what candidates have done to gain
their marks and what they still have to do to improve.

This document illustrates the standard of candidate work for those parts of the assessment which help

teachers assess what is required to achieve marks beyond what should be clear from the mark scheme.

Some question types where the answer is clear from the mark scheme, such as short answers and multiple
choice, have therefore been omitted.

Other past papers, Examiner Reports and other teacher support materials are available on Teacher Support

at https://teachers.cie.org.uk

Cambridge O Level Pakistan Studies 2059
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Assessment at a glance

Assessment at a glance

For Cambridge O Level Pakistan Studies candidates take two compulsory components, Paper 1 and Paper 2.

Components Weighting

Paper 1 The history and culture of Pakistan 1 hour 30 minutes 50%

Section A (25 marks) — candidates answer one compulsory question made up of
four parts: (a), (b), (c), and (d), which are linked by a common theme. Parts (a) and
(b) are source-based questions using historical sources, either text or pictures/
graphic. Candidates use and interpret each source in answering the questions.

Section B (560 marks) — candidates answer two questions from a choice of four.

Each question has three parts:

e one part testing knowledge (4 marks)
A factual answer of no more than one short paragraph is required.

* one part testing knowledge and understanding includes selecting relevant and
appropriate information (7 marks)
Answers require at least two paragraphs of writing.

* one part testing knowledge, understanding and analytical and evaluative ability
(14 marks)
This includes the ability to synthesise information, the appropriate use of
selected relevant examples and the ability to compare and contrast. This
guestion should be answered in an essay, in continuous prose of approximately
two pages of writing, not in note form.

Total 75 marks. Externally assessed.

Paper 2 The environment of Pakistan 1 hour 30 minutes 50%
Candidates answer three questions (25 marks each) from a choice of five.

Each question:
e consists of four separate parts: (a), (b), (c) and (d); each part may be divided into
one or more sub-parts

e requires the ability to interpret and analyse resources in the question; there
may be diagrams, graphs, maps, photographs, tables and written material. Part
(d) of each question specifically assesses analysis skills.

* requires the evaluation of information.

Total 75 marks. Externally assessed.

Teachers are reminded that the latest syllabus is available on our public website at www.cie.org.uk and
Teacher Support at https://teachers.cie.org.uk
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Paper 1 — The history and culture of Pakistan

Paper 1 — The history and culture of Pakistan

It is suggested that the following is read in conjunction with the Examiner Report which is written following
each examination series.

Section A

Section A requires candidates to consider the following sources.

SOURCE A

Nawab Siraj-ud-Duala opposed the growing British power in Bengal in 1757. Robert Clive,
commander of the British East India Company’s troops that had just retaken Calcutta from the
Nawab, began to re-establish control of Bengal. Clive was heavily outnumbered by the Nawab’s
forces, but persuaded Mir Jafar, the Nawab’s commander, to switch sides and not fight when the
two armies met. The Nawab opened the battle with heavy gunfire which went on until it started to
rain heavily. Clive’s troops covered their cannon and muskets to protect them from the rain, whilst
the Nawab’s troops did not. When the rain cleared, Clive attacked. The Nawab’s troops retreated.
22 of Clive’s soldiers were killed and 500 of the Nawab’s soldiers were killed.

From Seven Years’ War: Battle of Plassey by Kennedy Hickman
SOURCE B

The British East India Company

A painting of a British official of the British East India Company riding in an Indian
procession in 1825.
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Paper 1 — The history and culture of Pakistan

Question 1
This question is about the British in India
1  Study the sources (Insert) carefully and then answer the questions which follow.

(a) According to Source A, what reasons are suggested for the British victory at the battle of

Plassey in 17577 [3]
(b) What does Source B tell us about the British East India Company in 1825? [5]
(c) Why were the British able to take control of India by 18507 (7]

(d) Was the work of the Christian missionaries the most important reason why the Indians
opposed British attempts to westernise them between 1750 and 18507 Explain your answer.
[10]
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Paper 1 — The history and culture of Pakistan
Example candidate response — high
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued

{—‘I/v;s amqo/w_o\M Mww&mxm
empm\w,olum% Qoz\m;dr&:l
%‘u}\ﬁ\'\'ﬁ \ _, Y

PAST PAPERS
INSIDE
ation hub Cambridge O Level Pakistan Studies 2059



Paper 1 — The history and culture of Pakistan
Examiner comment — high

(1a) The candidate was able to correctly identify three reasons from Source A for the British victory at
Plassey in 1757.

Mark awarded = 3 out of 3

(1b) The candidate makes two inferences about the British East India Company supported by details taken
from Source B. The candidate’s answer is appropriate and they have made good use of the source. This
answer is awarded maximum marks in Level 3.

Mark awarded = 5 out of 5

(1¢) The candidate has given and explained three reasons why the British were able to take control of India
by 1850. All three explanations are accurate, concise and relevant. As a result, the candidate has produced
a well-explained answer which meets the requirements of Level 3.

Mark awarded =7 out of 7

(1d) The candidate wrote an articulate response to the question. A top Level 4 answer was achieved as the
candidate was able to explain the effects of the work of the Christian missionaries as well as identify why
other factors caused opposition. The candidate understood that the candidate was able to recognise the
question required reasons for opposition to ‘westernisation’ rather than any other general opposition to the
British. The end date was 1850 and it was pleasing that the candidate didn’t go beyond this date, since such
work would have been irrelevant to the question.

Mark awarded =9 out of 10

Total marks awarded = 24 out of 25
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Example can

Question  Part

Paper 1 — The history and culture of Pakistan

didate response — middle
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued

A | )l Bast lhola - Company Stovied fhfad;wq 7
/MQ@MWWIQQ 'Tﬂ.aqg,ej_-,wp
: Bl en  Madvans Culw.;&ba_ annd
Rmuhw-f ’l’wr dode  ustth :Gnd.t& moued 30
Qur‘regsm . Ahat —ft-‘eu wonted & fnz:—!ec:t and
on gure  Es suyvivat and ’;)Yog-&a,blfff/'q
Tp‘\eq set up oty con e army
A ovo4ec,+ feey " boges . The Fremch wyembed
-m,u!: o dbee tvade , 3o M %WME@(
Newab o} g&maﬁ’ to _qibock one af, e
basu . TLJS'JSMQLI Q.Dbf’/rt Cléves  elleckine Flanrw«q
he _peat JNc:uoob Sn/c.u ud- %m&a W e
battle o]  Plossey . i~ elovated ele's pouweyr
oy Are é]LJ@S O’j ‘h\'t& Inchons.
 Newt ,@w&«ﬁ:&e wren  Fhe Battle
o PBusar wn  wlilel  ElC 8 cone sut ulchkrioius
a/?ncl 30‘t a  hold g-é} Bihay_omnd  Hvrsea .
e wanted 4o gecwve Aheir spice
doole bq _aCqulring the  Seuth of sub-continafh
T[le,q bea;t Marath ax gJ{A.o vreve. -rtsm-m—‘a ondl
%wt‘ 8 de  Lold a(-}}' Dc’-cca/w :&'m

Pw,:e,g ol Macove _peal Aemn doicr. | -
Howevey, troy ud-exyg aj;le b _beat Tpu Suldon|
duoice aMdJCﬂ/ezf Zhe  Uplal of M'-té.mfé-
doo . Mtry sk sy amntsced Goobh dsd .
Tndans  cowdd do Little o stop
Jhid  oue Lo Bvitsh QM&maw A ﬁ'&(’-
ok aaff PR S 22258 W -.lad/wq/uéd , ord
0% a,\,z‘r"ﬂf/yﬂ. B ElIC uwoan backed by

-

PAST PAPERS
INSIDE
Cambridge O Level Pakistan Studies 2059 &5 =] oot



Paper 1 — The history and culture of Pakistan
Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — middle

(1a) The candidate identified two correct reasons from Source A for the British victory at Plassey in 1757.
Two additional reasons were given, one of which was an inaccurate representation of the source and the
other of which used the candidate’s own knowledge, which wasn’t asked for in the question.

Mark awarded = 2 out of 3

(1b) The candidate makes two inferences about the British East India Company, but these were unsupported
by any detail from Source B. As a result, the answer was awarded a mark in Level 2. In order to reach Level
3, candidates should support their inferences using details from relevant sources.

Mark awarded = 3 out of 5

(1c) The candidate wrote a long answer in response to the question on the ways in which the British were
able to take control of India by 1850. Parts of the answer were irrelevant to the question, as they referred to
the East India Company or described various battles that the British were involved with on the subcontinent.
In the last few lines, the candidate was able to provide a reason and an explanation, thereby gaining a mark
at the bottom of Level 3.

Mark awarded = 5 out of 7

(1d) The candidate was awarded a Level 3 mark as much of their answer to this question was descriptive.
They identified reasons for opposition but did not explain why these reasons led Indians to oppose British
attempts as westernisation. The candidate was also able to explain the role of Christian missionaries.

However, the other reasons that were advanced were explained and so a low Level 3 mark was awarded for
this response.

Mark awarded = 5 out of 10

Total marks awarded = 15 out of 25
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Paper 1 — The history and culture of Pakistan
Example candidate response — low

Question  Part
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Paper 1 — The history and culture of Pakistan

Example candidate response — low, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — low, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — low

(1a) The candidate correctly identified one reason from Source A for the British victory at Plassey in 1757.
Other information from the source was given but this didn’t relate to the reasons for the British victory.

Mark awarded = 1 out of 3

(1b) Although the candidate gained maximum marks in Level 3 for this response. It was a difficult answer to
mark since the candidate provided several unsupported references. However, enough relevant details were
extracted from the source to place it in Level 3.

Mark awarded = 5 out of 5

(1c) The candidate’s response to this question was limited. Some of the answer was irrelevant, but there
was sufficient material to merit a Level 1 mark.

Mark awarded = 1 out of 7

(1d) The candidate’s knowledge of the topic was limited and their answer contained some generalised
statements and irrelevant information. The candidate identified one reason why Indians opposed British
attempts to westernise them, which meant they were awarded a Level 2 mark. However, the candidate did
not explain or evaluate this reason, which would have allowed them to access Level 3.

Mark awarded = 3 out of 10

Total marks awarded = 10 out of 25
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Paper 1 — The history and culture of Pakistan

Section B

Candidates answer 2 questions from a choice of 4.

Question 2

Question 2
(a) Who was Tipu Sultan? [4]
(b) Why was Urdu chosen as the national language in Pakistan in 19477 (7]

(c) Was the attempt to achieve a better understanding with the British the most important
contribution that Sir Syed Ahmad Khan made to the Muslim cause during the nineteenth
century? Explain your answer. [14]
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Paper 1 — The history and culture of Pakistan

Example candidate response — high
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Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — high
(2a) The candidate was able to recall at least four facts about Tipu Sultan and so gained maximum marks for
this question. The answer was concise and accurate with little unnecessary detail. This was a very good
answer.

Mark awarded = 4 out of 4

(2b) The candidate had a clear understanding of this question and was awarded Level 3 marks because they
gave three separate reasons which were well explained.

Mark awarded = 7 out of 7

(2c) The candidate began their accurate and well-argued response by describing the ways in which Sir Syed
Ahmad Khan attempted to achieve a better understanding with the British. This part of the response was
able to achieve the maximum mark within Level 3. The candidate then went on to discuss further
contributions made to the Muslim cause by Sir Syed, which were well explained and evaluated. Overall the
resulting mark achieved was the maximum within Level 4. This was an excellent answer, demonstrating
authoritative knowledge and a clear understanding of the question.

Mark awarded = 13 out of 14

Total marks awarded = 24 out of 25
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Example candidate response — middle

Question  Part
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — middle

(2a) The candidate was able to recall two facts about Tipu Sultan and so gained two marks for this question.
The answer was short but accurate, although the amount of knowledge shown was limited.

Mark awarded = 2 out of 4

(2b) The candidate had a good understanding of this question and was able to explain three separate
reasons, scoring maximum marks.

Mark awarded = 7 out of 7

(2c) The candidate understood the requirements of this question, and was able to explain the contribution
made by Sir Syed Ahmad Khan to the Muslim cause during the nineteenth century. The candidate explained
his attempts to achieve a better understanding with the British. A mark towards the top of Level 3 was
achieved for this. The candidate then went on to mention only one other contribution of Sir Syed, which,
though well explained, resulted in a low Level 4 mark.

Mark awarded = 10 out of 14

Total marks awarded = 19 out of 25
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Example candidate response — low
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Paper 1 — The history and culture of Pakistan

Example candidate response — low, continued

© | Sr jye horigd e b condnl ppred s
v s (NS _cnd B s hesi o hand
Weane. bl ‘neladtons . lkeps eV Foam oug |
bt W(pif=PugHeee loovlc, % T3, & Ls\yal. Vo ham -,
| adap s o= EMAA?Q——” QMUA__ A e .
R ~ulmdelC oot

!j;l(’ ,L-VILR)Q lnﬁ ’5‘9‘57’ }r‘a q;)%aaclge‘(jae
W[y A 0 RYSad S

hh a-h,a__{:ig" Hv/i[ri: ﬂﬁ ﬁﬂ%%
AUoy7 & H&J;{'«HA LMWMMM_
41 b ¥ M;w nﬁ_lﬁb_ _mua_hr.v\eaL{;L@f—

, }gg% 4t s — koo Pea, . With
‘Ht‘/ B!"!)Lf &\ 5 '~1 Mr ]MM

now! a4 M,HJ_C fz o problomy ity
-%mrdwu i Lt wmla hoi=lpe Sucha ]

e &\& SHNF alol m‘l lq,m an'!/VLQ brat
Fo oduesde 4 s lpms coud ry-o 58

sl flo d! V&MQLM:W_M wnyahd
Sl Cop Lo c#am_cLﬂqLAgu,qm_ﬁﬂzng_
Cdamrf, W‘h ‘611 othoy s Furndd yy, MMJ&

A / mm _1_1@3_%%5/’9
%_qu

gAY

Qotr}* 'H"'e Mo ) WW)” CPES s

Cottroultn was ogtuslly N ammm« to
MO e MLW?]’)H—:M&F /w bt
e U LNS,

PAST PAPERS
INSIDE
30 Cambridge O Level Pakistan Studies 2059 S =< Touetcation



Paper 1 — The history and culture of Pakistan
Examiner comment — low

(2a) The candidate was able to recall three facts about Tipu Sultan and so gained three marks for this
question. The answer was accurate and concise but the amount of specific knowledge shown was limited.

Mark awarded = 3 out of 4

(2b) The candidate had some understanding of the question and was able to explain, though somewhat
weakly, two separate reasons for the choice of Urdu. As a result the candidate scored a Level 3 mark.

Mark awarded = 6 out of 7

(2c) Unfortunately the candidate was only able to describe some of the work of Sir Syed rather than
explaining or evaluating it, and as a result was only able to score a mark within Level 2. Candidates should
include explanation and evaluation in order to attain marks higher than Level 2.

Mark awarded = 5 out of 14

Total marks awarded = 14 out of 25
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Paper 1 — The history and culture of Pakistan

Question 3

Question 3
(a) What was the All India Khilafat Conference? (4]
(b) Why did Jinnah produce his 14 Points in 19297 (7]

(c¢) How successful were the three Round Table Conferences of 1930-1932? Explain your answer.
[14]
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Paper 1 — The history and culture of Pakistan
Example candidate response — high
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

36

Examiner comment — high

(3a) The candidate was able to recall four facts about the All India Khilafat Conference and so gained a
maximum four marks for this question.

Mark awarded = 4 out of 4

(3b) The candidate understood the demands of the question and was able to write a short but accurate
answer. They included two reasons and explained their answer well, gaining a mark at the top of Level 3.

Mark awarded = 6 out of 7

(3c) The candidate realised the importance of focusing on the words ‘how successful’ in the question and
proceeded to explain the successes and failures of each Round Table Conference. As a result they scored a
mark within Level 4.

Mark awarded = 11 out of 14

Total marks awarded = 21 out of 25
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Example candidate response — middle
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — middle
(3a) The candidate was able to recall three facts about the All India Khilafat Conference and so gained three
marks for this question. The answer was a little lengthy, however, and some of the information presented
was not always relevant to the question.

Mark awarded = 3 out of 4

(3b) The candidate understood the demands of the question but explained only one reason. The candidate
therefore gained a mark at the bottom of Level 3. Some of the material presented was unrelated to the
question.

Mark awarded = 5 out of 7

(3c) The candidate failed to focus on the key words ‘how successful’ in the question and proceeded mainly
to describe each Round Table Conference. This part of the response therefore achieved Level 2 marks. At
the end of their answer, the candidate focused on the failures of the Conference and was awarded a mark at
the bottom of Level 3 for explaining one of these.

Mark awarded = 7 out of 14

Total marks awarded = 15 out of 25
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Paper 1 — The history and culture of Pakistan
Example candidate response — low
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Paper 1 — The history and culture of Pakistan

Example candidate response — low, continued
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Paper 1 — The history and culture of Pakistan
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Example candidate response — low, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — low

(3a) The candidate was able to recall three facts about the All India Khilafat Conference and so gained three
marks for this question.

Mark awarded = 3 out of 4

(3b) The candidate failed to focus on the demands of the question and wrote at some length about the Nehru
Report of 1928. This was not relevant as it simply described what the report contained. The candidate did
manage to say that Jinnah’s 14 Points were produced in response to the Nehru Report but failed to explain
why. This meant the candidate was awarded a mark at the bottom of Level 2.

Mark awarded = 2 out of 7

(3c) The candidate failed to focus on the words ‘how successful’ in the question and simply described each
Round Table Conference, occasionally identifying a success or a failure. To improve, they would have
needed to develop this by explaining why the successes and failures occurred. There was some evidence of
explanation following the description of the failure of the second Round Table Conference. As a result, the
candidate was able to reach the bottom of Level 3.

Mark awarded = 7 out of 14

Total marks awarded = 12 out of 25
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Paper 1 — The history and culture of Pakistan

Question 4

Question 4
(a) What was the ‘Afghan Miracle’? [4]
(b) Why was Islamabad chosen as the new capital of Pakistan? (7]

(c) How successful was Pakistan in its relationship with the U.S.A. between 1947 and 1999?
Explain your answer. [14]
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Paper 1 — The history and culture of Pakistan

Example candidate response — high
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — high, continued
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Paper 1 — The history and culture of Pakistan

50

Examiner comment — high

(4a) The candidate was able to recall three facts about the ‘Afghan Miracle’ and so gained three marks for
this question. It was pleasing to note that the candidate focused on the foreign aid given to Pakistan rather
than erroneously concentrating on the invasion of Afghanistan by Russia, as this was not the point of the
question.

Mark awarded = 3 out of 4

(4b) The candidate’s response was good and explained two reasons for the choice of Islamabad, thus
gaining a mark towards the top of Level 3.

Mark awarded = 6 out of 7

(4c) The candidate immediately recognised the importance of the words ‘how successful’ in the question.
They structured their response accordingly, and did not simply describe the events in chronological order.
For explaining and evaluating the successes and failures of the relationship between Pakistan and the USA,
this response scored almost maximum marks in Level 4.

Mark awarded = 12 out of 14

Total marks awarded = 21 out of 25
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Paper 1 — The history and culture of Pakistan
Example candidate response — middle
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan

Example candidate response — middle, continued
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Paper 1 — The history and culture of Pakistan
Examiner comment — middle

(4a) The candidate was able to recall two facts about the ‘Afghan Miracle’ and so gained two marks for this
question.

Mark awarded = 2 out of 4

(4b) The candidate’s response was good and they were able to explain one reason for the choice of
Islamabad, thus gaining a mark at the bottom of Level 3.

Mark awarded = 5 out of 7

(4c) The candidate recognised the importance of the words ‘how successful’ in the question and structured
their response accordingly. For explaining the successes and failures of the relationship between Pakistan
and the USA, this response was awarded a mark in the middle of Level 4.

Mark awarded = 11 out of 14

Total marks awarded = 18 out of 25

PAST PAPERS
INSIDE
Your education hub Cambridge O Level Pakistan Studies 2059

55



Paper 1 — The history and culture of Pakistan
Example candidate response — low

Question  Part
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Paper 1 — The history and culture of Pakistan

Example candidate response — low, continued

/Mi Mu‘GM Gzl He fdum. Ay 0l

Sonnd AAAtCul L bmes. T
m%@d Pd%m%pp%@%

A‘[HAﬁM Hgpresvthed Soung 15¢ U oluptg
- Z,w:s mm valrt, b | Fop o 54
o, Wﬁé’ VA gt |

WM_M/ Fualy ;:aggymﬁ
pacteole %g E-16 Erghiroeis o v.S A
| Crvteeed Paleds o, |
eﬁ’{m—mﬂ N _wrerih 553 =
ﬁ;igﬂ Wllwléiﬂ Ifc
a§ c:w !

PAST PAPERS
INSIDE
°°°°°°°°°°°°°°° Cambridge O Level Pakistan Studies 2059



Paper 1 — The history and culture of Pakistan
Examiner comment — low

(4a) The candidate was able to recall one fact about the ‘Afghan Miracle’ so gained one mark for this
question. It was disappointing to note that the candidate failed to focus on the foreign aid given to Pakistan
and concentrated too much on the invasion of Afghanistan by Russia, which was not the point of the
question.

Mark awarded = 1 out of 4

(4b) The candidate’s response did not give any reasons for the choice of Islamabad and so gained a mark at
the bottom of Level 2. To improve they needed to avoid generalisation and demonstrate greater subject
knowledge.

Mark awarded = 2 out of 7

(4c) The candidate failed to recognise the importance of the words ‘how successful’ in the question and
simply described some of the events that occurred between Pakistan and the USA. The answer contained
generalised statements that did not show a detailed understanding of the relationship between the two
countries. As a result, the candidate scored a mark at the top of Level 2.

Mark awarded = 6 out of 14

Total marks awarded =9 out of 25
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Paper 2 — The environment of Pakistan

Paper 2 —-The environment of Pakistan

Question 1
Example candidate response — high

1 (a) (i) On the outline map of Pakistan Fig. 1 mark and shade two areas which experience low

annual rainfall (125mm or less). [2]
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(ii) Name the crop which is mainly grown in these areas of low annual rainfall.

(iii) Explain the difficulties for people living in areas of low ramfall
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(b) (i) Study Fig. 2 which shows rainfall data for two cities on the River Indus.
70

60

50

mean

monthly 40
rainfall

(mm) 30

20

10

N /% %
JFMAM
Hyderabad,

A AN\

NN

A Y
EEZMMMIMIIMMIDAEITI]Hn iy

A e
=
o
5
= W
3
= O

A MMMk

ZATHNHaiy

> My
A

W
NN

o NN
TN

- AL
SINN

AV A A

ND

[
ci

[« N
wm
5
Q.
=
o
@
O
7
3

Fig. 2

A. Compare the amount and pattern of monthly rainfall in Hyderabad with that of Dera
Ismail-Khan.
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B. Give three reasons for any similarities or differences in the two patterns of rainfall.
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(ii)y Explain the effect of flooding on the local economy and transport links in communities
along the River Indus.
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(c) Give an example of a dry port and explain why it is located where it is.
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(d) Ithas been proposed that a new motorway should be built in 'Sindh from Hyderabad via Thatta
to Keti Bandar on the Indus Delta, a town with a population of less than 25000.
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Paper 2 — The environment of Pakistan
Examiner comment — high

(1a)(i) In this question the candidate followed the instructions correctly, marking and shading two areas on
the map. There are three distinct regions where rainfall is below 125 mm. A mark was awarded here for
correctly identifying an area in one of the regions. A further mark would have been awarded if the candidate
had shaded an area of a different region.

This candidate correctly identified an area within Balochistan. Fewer candidates correctly shaded areas in
the other two regions of the map. A number of candidates confused named deserts with areas that
experience rainfall of less than 125 mm or less. For example, the Thal desert was often shaded.

Mark awarded = 1 out of 2

(1a)(ii) Most candidates referred to secondary crops such as wheat. Here the candidate carefully reads the
question and identifies the main crop as dates. This question tests knowledge of the maps in the course
atlas that show crops, crops and cultivated areas, and fruit grown in Pakistan.

Mark awarded =1 out of 1

(1a)(iii) In this question the candidate correctly identifies that facing extreme heat is a difficulty for people
living in an area of low annual rainfall, and also correctly identifies that drought may occur. However, both
these points are listed on the same line of the mark scheme as they are related ideas so only one mark can
be awarded here.

Further marks could have been awarded if the candidate had given more detail and used more precise
subject-specific language. The candidate needed to mention the lack of water for irrigation or that the type of
crops that could be grown are limited because of this. For example it would not be possible to grow crops
like rice.

Mark awarded =1 out of 3

(1b)(i)(A) This response shows the candidate looked at the amount and pattern of monthly rainfall in both of
the cities as asked. They start by correctly comparing one period, from January to May, in both cities,
followed by the statistic for June, correctly telling us that the rainfall is the same in both cities in that month.
When comparing graphs it is important to make clear comparisons (candidates should imagine that the
person who is being told the information cannot see the graph) to compare like with like (in this case the
same month with the same month) and to give accurate and precise information. To be awarded the full
three marks the candidate needed to tell us that both cities receive high or the highest amounts of rain in
July and August, rather than comparing July in Hyderabad with August in Dera Ismail Khan.

Marks are only awarded for comparisons and not for general description or explanation of the graphs.
Generally, marks are awarded for one illustration of one idea. For example, one mark is awarded for ‘the
amount of rainfall in June is identical in both cities’, but saying ‘the amount of rainfall in November is identical
in both cities’ would not be credited as well, although this is correct information, because it is the same kind
of comparison.

Mark awarded = 2 out of 3
(1b)(i)(B), In responding to this question the candidate gains the full three marks by demonstrating a good
knowledge of the reasons. Candidates in general gave more accurate responses to this part of the question.

Most at least mentioned that both cities experienced monsoon rainfall.

Mark awarded = 3 out of 3
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Paper 2 — The environment of Pakistan

(1b)(ii) The candidate correctly identifies that flooding causes the destruction of crops and livestock. These
are similar ideas, and so one mark is awarded. The candidate also mentions roads being blocked and
damaged by floods (again a similar idea). To be awarded further marks, the candidate needed to develop the
good ideas they included in a more precise way. For example, that the farmer would lose money because of
the crops/livestock being destroyed, or that the blocked roads meant that journeys would take longer.
Another very good idea that could have been credited if it had been clearer and more detailed, was the
increase in the soil fertility after a flood where alluvium has been deposited.

Some candidates moved away from the focus of the question and wrote about the effects on the national
economy or the social effects on the local area, for example, the effect of flooding on housing. However, a
number of candidates referred to the disruption of the electricity supply, telecommunications and the inability
to send emails, phone customers, etc.

Mark awarded = 2 out of 4

(1c) The candidate’s response here gained the full three marks for correctly identifying a dry port and giving
the locational factors, as requested in the question.

Mark awarded = 3 out of 3

(1d) The candidate has kept their answer closely focused on this question and has included examples.
There are a number of very good points about why the motorway might be needed, and a number of very
good points about why the proposal might not be possible. The candidate is awarded Level 2, three marks.
To gain higher marks, the candidate needed to develop more of the points made, and also needed to include
arguments as to why the proposal may be possible. The response needs to clearly identify the reasons why
the motorway is needed, then go on to say how far the proposal is possible (rather than raising these points
together). The candidate also needed to develop their reasons for why the proposal may not be possible,
and end with a clear conclusion.

Mark awarded = 3 out of 6

Total marks awarded = 16 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — middle

1 (a) (i) On the outline map of Pakistan Fig. 1 mark and shade two areas which experience low

annual rainfall (125 mm or less). [2]
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(ii) Name the crop which is mainly grown in these areas of low annual rainfall.

(iii) Explain the difficulties for people living in areas of low rainfall.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(b) (i) Study Fig. 2 which shows rainfall data for two cities on the River Indus.
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A. Compare the amount and pattern of monthly rainfall in Hyderabad with that of Dera
Ismail Khan.
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B. Give three reasons for any similarities or differences in the two patterns of rainfall.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

=/

(ii) Explain the effect of flooding on the local economy and transport links in communities
along the River Indus,
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(c) Give an example of a dry port and explain why it is located where it is.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(d) It has been proposed that a new motorway should be built in Sindh from Hyderabad via Thatta
to Keti Bandar on the Indus Delta, a town with a population of less than 25000.

Explain why this motorway might be needed. To what extent would this proposal be possible?
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — middle

(1a)(i) Generally, the instruction to mark and shade an area is aimed at encouraging candidates to keep their
shading within a specified area. This is because, without first marking out an area, the shading could stray
too far outside the area the candidate intends. In this case, the shaded area in Balochistan is correct and
remains within the area that can be credited. The other shading covers an area of desert, with the candidate
thinking that this type of geographical feature is synonymous with levels of rainfall below 125 mm. More
careful study of the maps in the atlas would have shown this as incorrect, so one mark is awarded here.

Mark awarded = 1 out of 2

(1a)(ii) ‘Cotton’ has been given as the main crop. However, cotton requires a lot of moisture, particularly
early on in the growing process, so, while it is a crop that needs hot weather conditions, it would not be
suitable for areas of low annual rainfall. While the question tests candidates’ map knowledge, awareness of
the crops grown in Pakistan and the type of growing conditions that dates require would have been useful
here.

Mark awarded = 0 out of 1

(1a)(iii) The candidate gains two marks for mentioning the lack of water for domestic use and that low rainfall
is a reason for food shortages. A further mark could have been awarded if the candidate had included more
detail and used more precise subject-specific language when writing about the difficulties people face when
growing food. The candidate could also have mentioned lack of water for irrigation or that a lack of water
limits the type of crops that can be grown.

Mark awarded = 2 out of 3

(1b)(i)(A) This response shows that the candidate has described the graphs individually rather than making
a direct comparison between the two. As a result, the candidate has not extracted information to illustrate
their analysis. The candidate was right to look at specific periods of the year to identify a pattern, but the
periods identified are not the same for both graphs, and again, no direct comparison has been made.

Mark awarded = 0 out of 3

(1b)(i)(B) The candidate states confidently that heavy rainfall in both cities is because of the monsoon and
gains credit for this. However, to be awarded further marks, the candidate would need to develop their ideas
on geographical location to identify the direct cause for the differences in the two rainfall patterns.

Mark awarded =1 out of 3

(1b)(ii) The candidate has made two good points about crops being destroyed and roads being covered with
floodwater. The candidate could have improved their answer by being more specific about what was meant
by ‘great loss to the farmers’, either by referring to the financial losses associated with floods, or by giving
more detail about what happens when roads are flooded. The question asks for the effect on transport links,
so consideration of how journeys take longer or become more dangerous would have been useful.
Candidates need to make sure that they are not just repeating words from the question (in this case
transport) because this could mean answers are not detailed or precise enough.

Mark awarded = 2 out of 4
(1c) The candidate gives a correct example of a dry port, Faisalabad, and gains a mark for this.
The importance of careful reading of the question is illustrated here, because the functions of a dry port are

given rather than the locational factors required by the question.

Mark awarded =1 out of 3
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Paper 2 — The environment of Pakistan

70

Examiner comment — middle, continued

(1d) A number of reasons are given as to why the motorway might be needed: to transport people from place
to place, to transport goods, to attract industry. The candidate also develops one idea, so the response is
awarded a Level 2, three marks. However, the candidate needed to address more than one part of the
question, making more developed points, in order to achieve Level 3. Candidates in the ‘Good’ range often
needed to address the proposal in the question more directly, and base their responses specifically on the
geography of the places mentioned to avoid simply making points about why motorways might be needed in
general.

Mark awarded = 3 out of 6

Total marks awarded = 10 out of 25
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Paper 2 — The environment of Pakistan
Example candidate response — low

1 (a) (i) On the outline map of Pakistan Fig. 1 mark and shade two areas which experience low

annual rainfall (125mm or less). [2]
N et
} -,‘! "!
¢ o
\
/
" )
J'/ ‘...':
'\,'_'/ i
/L H
r
s/
! -
| _
s ;
-+ ,7 J / Pl
{ [/ g
17
i~ e ‘/ ;.f"
rir s
:\';‘ ; /'/jf'. / . / ;
et ;
et ( Key:
0 o —— international boundary
L ' . disputed boundary
\‘-—:;.\,—S-'——l\«, e ,,._’i.
rabian Sea = Byl a0
km

Fig. 1
(ii) Name the crop which is mainly grown in these areas of low annual rainfall.
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(iii) Explain the difficulties for people living in areas of low rainfall.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(b) (i) Study Fig. 2 which shows rainfall data for two cities on the River Indus.
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A. Compare the amount and pattern of monthly rainfall in Hyderabad with that of Dera

Ismail Khan.
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B. Give three reasons for any similarities or differences in the two patterns of rainfall.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(i) Explain the effect of flooding on the local economy and transport links in communities
along the River Indus.

FMM&?&Q@L@M &EJMLOLLV\?A,.MJQQLs

m%mm&mw%mhb&mw tod. ...
MWM@QWM&MWA*WMSM
LS. ovavnumatien...alemag. Ao River,. Tindua.o
alao..afleded. aa.. Jeada. deabmy. the. roada. .
L Mmh@ld%dwpeaf\e,ab {jtvxdut&a.ﬂ}\udr

0. yeng. .

(c) Give anexample of a dry port and explain why it is located where it is.

Example ded%ﬂkﬁd .................
Explanation P‘sd,ﬂ\-g %MQ&!M Ae*\ﬂ]@@d
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(d) It has been proposed that a new motorway should be buiit in Sindh from Hyderabad via Thatta
to Keti Bandar on the Indus Delta, a town with a population of less than 25000.

Explain why this motorway might be needed. To what extent would this proposal be possible?

%&mﬂ’@wwd ?M: At vneodod. . Sundih, X
deciemmd Thaﬂm Ao Keki Bamdon..en.. -!‘Cxeb
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — low

(1a)(i) Although part of the two areas shaded by the candidate fell within two of the correct regions on the
map, the full extent of the shaded areas fell outside the correct regions and so no marks could be awarded.

Mark awarded = 0 out of 2

(1a)(ii) The answer given here of ‘wheat’ is a secondary crop, and not the main crop. The question asks
‘which crop is mainly grown’.

Mark awarded = 0 out of 1

(1a)(iii) The candidate understood that an area of low rainfall will have insufficient water. What they needed
to do to develop their answer was to consider why the shortage of water causes difficulties. The candidate
could have gained marks here by thinking about how people cope with the essentials of living in an area with
very little rainfall, and how this affects the different activities they have to carry out.

Mark awarded = 0 out of 3

(1b)(i)(A) The candidate understood that there is high rainfall in both July and August and they gained credit
for this. To improve, the candidate needed to use the statistics when comparing this with the amount of
rainfall in January. They also needed to give the statistic for the amount of rainfall in Hyderabad (they gave
13 mm for Dera Ismail Khan). Similarly, they needed to include more detail about the differing levels of
rainfall in the early part of the year in Dera Ismail Khan compared to Hyderabad. It was clear, however, that
the candidate was starting to look at the patterns of monthly rainfall over the year rather than just the
amounts for each month.

Mark awarded 1 out of 3

(1b)(i)(B) The candidate clearly considered how the geographical location might affect patterns of rainfall,
but they needed to develop their ideas further. For example, they could have considered the monsoon
rainfall occurring in particular areas.

Mark awarded = 0 out of 3

(1b)(ii) The candidate gained a mark for stating ‘buildings, roads get destroyed’ and ‘floods destroy roads’,
but, to gain further marks, they needed to include more clarification of the kinds of damage resulting from
floods and precisely how this damage affects the local economy.

Mark awarded =1 out of 4

(1c) Although the candidate correctly identified a dry port and gained a mark for this, to gain further marks
they needed to give valid locational factors. There was some confusion as to the precise meaning of a dry
port, with the candidate perhaps seeing this as something that was located in a hot, dry climate. There could
have been a possibility of a second mark if the candidate had developed ‘cities are linked’ by explaining this
is due to good road and rail connections. It is clear the candidate had read the question carefully and
answered within their abilities and knowledge, because an example of a dry port, as requested, was given
rather than a sea port.

Mark awarded = 1 out of 1

(1d) The candidate refers to the places mentioned in the question and gives reasons why the motorway
might be needed. Some of these have substance, and so they were awarded a Level 1, two marks. To gain
higher marks at Level 2, the points made needed more development.

Mark awarded = 2 out of 6

Total marks awarded = 5 out of 25
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Paper 2 — The environment of Pakistan

Question 2

Example candidate response — high

2 (a) Study Figs 3 and 4 which give information about the extraction of three metallic minerals in
Pakistan in 2010-11.

350

0%

200
tonnes

e - 20% 1 Iron ore

@ Bauxite
1 Chromite

100

50

0

Chromite Balte " lronore
Fig.3 Fig-4
(i) How much iron ore was extracted in 2010-11?

7@5%\@?\\\2&[1]

(i} State the difference between the type of information being provided in Fig. 3 compared to
that in Fig. 4.

Mhog o spendes s, YOS SRR, A m%a‘:&ik
}WQ\\\M\\@- \ﬁxﬁ.&ﬁm&\ %ma‘ veveesserenennenene] 1]

(b) (i) Give one use for the mineral chromite and name one area where it is extracted in
Pakistan.

TN N A\%\\qw@, DAONSLE e ...
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(i) What are the benefits of extracting mineral resources for local people and the national

(i)

economy?
S0 m&\x\\n\m\m ATEREIN &L\&.‘Q%\wﬁ%\%m\m
REAS %\Q\\\a&: EENNSES R CHOEN AN S
NS bs\\w%hgmmk TN A T v G
e\ A S ] ST, SRS, € axe
SNELATGDS \\x s \\@?ﬁ\v\%@‘i\ O N
S \° “\&% £ SEFRARD MO ?&p\\&,\
N O N COEN ‘&%%wscas.\s SIS AN NER IS
AR RFASNS, senbes w\%&;\\\m\\qg&. RISV
Explain the effects of mineral extraction on the natural environment.
IS ‘E:.\E ma\*\\m\\mg.&mmx&%\\\z \\m{m\%
PN Q\m@%&\\am&mm\w&xum\ SRR
\\m@&\w&a\:\\a\mﬁa@&% hNSCEY \\\\\\ﬁ\ e;&@é\ N
SHATAME. N6 20 T ONRET s \s\@\@@:&w
PSS WO N B8\ PN w\% SN ee e
B T T A R T

mx}smms ‘S:E:b &xm\\\\ Q\\\}&\‘Q&\ .

wen[4]
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Paper 2 — The environment of Pakistan
Example candidate response — high, continued

(c) (i) Fig.5is a diagram of a thermal power station.

_Xuxsine [““"—“‘”“f‘

_Sheaw ____

|
/ ' [_ transmission
: z lines
—— i
([ m_.l I—l generator e
== [
coal —"g L _—  — .
e g B warm water N
‘_Eool‘ \;vate?_

Fig.5
Choose three terms from the list below and use'them to label the diagram in three of the
spaces provided. :
-reservoir transformer boiler turbine cooling tower steam [3]

(ii) Explain why burning fossil fuels in power stations is unsustainable.

REECHIE TR S B SEINE KT SN
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Paper 2 — The environment of Pakistan
Example candidate response — high, continued

(d)

Pakistan Railways now carry less than 10 percent of Pakistan’s -p'a-ssenge_r traffic and
5 percent of its freight.

To what extent is it possible to develop railways further in Pakistan? Support your.answer by
using examples you have studied.

O N R G TN NN N -
Wms_-.m&\&wm\%E\E&\\Q\Mmgm\ﬁ\kx&
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[Total: 25].
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Paper 2 — The environment of Pakistan
Examiner comment — high

(2a)(i) Although the candidate looked at the correct chart and the correct area of the bar chart, for the mark
to be awarded they needed to give the correct numerical value of 330000 tonnes. A significant minority of
candidates omitted the tonnes or the 000 tonnes in their response. It is essential that all areas of the graph
are read carefully, including titles, axes labels and keys, as well as the numerical data represented.

Mark awarded = 0 out of 1

(2a)(ii) The correct answer was given in the form of ‘amount’ and ‘percentage share’. A variety of responses
were given credit, in order to allow for the different words that candidates used to describe the same
concepts.

Mark awarded =1 out of 1

(2b)(i) The mark was awarded for ‘stainless steel’. Goods rather than processes gained the mark. Very few
candidates were able to identify one of the correct areas for the extraction of chromite, i.e. ‘Muslimbagh/Zhob
(Valley)/Wad'. Although these areas are in Balochistan, this is a province, and mining for chromite does not
take place over the entire province. Candidates generally need to be more specific and accurate when
naming the different areas of Pakistan where different activities take place.

Mark awarded = 1 out of 2

(2b)(ii) This response was awarded three marks for ‘provide employment’ for a benefit to local people, ‘gold
and copper’ as the named raw materials and ‘won’t need to import it (copper)’ for the idea of reducing
imports. A further mark could have been awarded if the candidate had been more specific. For example, with
regard to ‘export these resources’, they could have included the idea of exports increasing, or that export
earnings contribute to the balance of payments because the export of minerals is a source of foreign
exchange. The candidate could have gained a mark if the idea of ‘more development projects can be run
helping local people’ had been expanded to cite a specific project, for example road improvement.

Mark awarded = 3 out of 4
(2b)(iii) This was very well answered, gaining full marks for four developed points. The candidate gave the
source of noise pollution (loud noise from machinery), the reason why deforestation occurred (to reach the

mines), that land might collapse too due to digging and that dumping waste in rivers would pollute them. It is
important that candidates develop the points they make when answering questions that ask them to ‘explain’.

Mark awarded = 4 out of 4

(2c)(i) The candidate correctly identified three terms on the diagram.

Mark awarded = 3 out of 3

(2c)(ii) One mark was awarded here, because, although the candidate made a number of points, they
repeated the same point — that fossil fuels are non-renewable. The candidate needed to address other
aspects of the unsustainability of fossil fuels. They should have considered not just the fuels themselves, but
also the source, extraction and effects of using such fuels. The candidate could have gained another mark if

they had expanded on the CO, emissions produced by fossil fuels which in turn contribute to global warming.

Mark awarded =1 out of 4
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Paper 2 — The environment of Pakistan
Examiner comment — high, continued

(2d) This type of question requires the candidate to present developed arguments for and against a proposal
or possibility and make a clear evaluation of those arguments. There is enough development here to award
this Level 2, four marks. The argument presented about why the government should reduce ticket prices to
make the railways cheaper (an argument for the possibility) as well as the point about the challenge of other
budget priorities (an argument against the possibility) are the elements that gain credit. However, although
the candidate states ‘Developing railways is possible to some extent’ the argument against the possibility of
development is much more persuasive, i.e. there’s no money to do it.

There were a number of points addressing the problems with the railways and what the government should
do to develop them, but little which evaluated the extent to which development of the railways is possible (as
asked by the question). This response is a very good example of a candidate who has presented points on
both sides of an argument but failed to base their conclusion on clear evidence. More careful reading of the
question, and more careful planning and organisation of points for and against the feasibility of development
would have helped gain credit at Level 3.

Mark awarded = 4 out of 6

Total marks awarded = 17 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — middle

2 (a) Study Figs 3 and 4 which give information about the extraction of three metallic minerals in
Pakistan in 2010-11,

350
300 — 0%
250 ; —
tonnes R e 20% " Iron ore
(000) 150 QUL Bauxite
s [J Chromite
100 -_E-;_ T
50 .z
Chromite Bauxite Ironore
Fig. 3 Fig. 4
(i) How much iron ore was extracted in 2010-11?
(ii) State the difference between the type of information being provided in Fig. 3 compared to
that in Fig. 4.
Bg:2. s karchark...and. K. is.a.pe.choxk: B3,
Yras values. intoness..and. Hg:ly has.uave. in percentages......[1]
{b) (i) Give one use for the mineral chromite and name one area where it is extracted in

82

Pakistan.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(ii) What are the benefits of extracting mineral resources for local people-and the national
economy?

. local.pecple. ot Momsa)). prouide. “Fhem. uii. empyrert
nfe. exiackan. of Ae minerals. .also. in e, indisies..
of Abe. ioerals.. x0Lwich Ao, o f pecesing:- e cauntige
R nuld e and. e camiry. wauld) ee..able. . pay.
meefals. e, ey weadd eenehle frem e Sxkracked are

(iii) Explain the effects of mineral extraction on the natural environment.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(c) (i) Fig.5is a diagram of a thermal power station.

transmission
lines

U

I—l generator

| —

warm water

-—

. _“_
cool water

Fig.5

Choose three terms from the. list below and use them to label the diagram in three -of the
spaces provided.

reservoir : ,transformer boiler turbine coo!ing.tﬂwer steam [3]
(ii) Exp[aln why burning fossil fuels in power stations is unsustainable.
Puming fuels.in. powe s stdiors. is mms.’cmu.blahe@:ae
they.cannst ke ed. again: Ruerstaticos. shaddndc...
h»n*bsas\-@udsqsmgeu@tbanaexboum\ .
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(d)

Pakistan Railways now carry less than 10 percent of Pakistan’s passenger traffic and
5 percent of its freight.

To what extent is it possibie to develop railways further in Pakistan? Support your answer by
using examples you have studied.

msnﬂmewmes&udlwmawemm%geé
lard)..so.theck. Quea. coudd)...come 0. 5600 k. 68 use.auad
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uhe.te b.u‘.chﬂg..@.%.focx:ﬂ& teiERau b because of k...
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — middle

(2a)(i) Although the candidate had been looking at the correct chart and the correct area of the bar chart, for
the mark to be awarded they needed to give the correct numerical value of 330000 tonnes. It is essential
that all areas of the graph are read carefully, titles, axes labels and keys, as well as the numerical data being
represented so that the correct answer can be given.

Mark awarded = 0 out of 1

(2a)(ii)The correct answer was provided in the form of ‘tonnes’ and ‘percentages’. A variety of correct
responses were given credit in the mark scheme. This was to allow for the different words that candidates
could use to describe the same concepts.

Mark awarded =1 out of 1

(2b)(i) The candidate needed to say how the mineral chromite was used in industries, e.g. furnace linings or
making tools. The candidate needed to be more specific and accurate when naming the area of Pakistan
where the mining activity for chromite takes place.

Mark awarded = 0 out of 2

(2b)(ii) This was a good answer, demonstrating the candidate’s knowledge in a well-organised way. A fourth
mark could have been gained if the candidate had said more about the business opportunities for local
industries and services, or how local industries could use the raw materials. This could have been achieved
by developing the point about the processing industry being a source of employment for local people.

Mark awarded = 3 out of 4

(2b)(iii) Two marks were awarded for the inclusion of rock-blasting, which creates noise pollution, and for
mentioning the huge depressions that are formed when the land is dug up. ‘Floods’ were mentioned, but
these are also a consequence of the land deformation and so are on the same line of the mark scheme as
‘depressions’. Land not being suitable after mineral extraction for agricultural purposes or for construction
was not credited by the mark scheme.

Mark awarded = 2 out of 4

(2c)(i) With more careful study of the diagram, and more thought and reflection on the processes that take
place in a thermal power station, this candidate would have gained more than the one mark awarded for
‘transformer’.

Mark awarded = 1 out of 3

(2c)(ii) More subject-specific vocabulary was needed in this response. The use of the term ‘non-renewable’
would have seen many candidates across all levels of ability gain credit. With a little more development of
the idea of why there won’t be any fossil fuels left for the coming generation (they will eventually run out or
become exhausted and cannot be replaced), a mark could have been gained, as it is clear that the candidate
understands the concept of sustainability.

Mark awarded = 0 out of 4
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Paper 2 — The environment of Pakistan

Examiner comment — middle, continued

(2d) This response is an example of where the candidate has been restricted to a Level 2, three marks,
because only one side of the argument has been addressed. The two points that are made supporting the
possibility of developing the railways (a large number of people would use the railways and there are not
enough roads to carry goods) are developed and valid, and also include examples. However, the remainder
of the response concentrates on what should be done, through the building of railways, to develop
mountainous/rugged areas such as Balochistan. To gain credit at Level 2, four marks, the candidate would
need to address reasons why it is not possible to develop the railways. To gain credit at Level 3, the
candidate then needs to give an evaluation of the reasons for and against and to conclude by summarising
to what extent it is possible to develop the railways.

Mark awarded = 3 out of 6

Total marks awarded = 10 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response —

low

2 (a) Study Figs 3 and 4 which give information about the extraction of three metallic minerals in
Pakistan in 2010-11.
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(i)

(b) (i)

88

Chromite Bauxite Ironore
Fig. 3 Fig. 4

How much iron ore was extracted in 2010-11?

Oroud Y2, Grsarouhd 20 bosmo tommes,

State the difference between the type of information being provided in Fig. 3 compared to

that in Fig. 4.
CU/*O. ype of-Onformabion FﬂguDeLul &\&91 3 %S &A‘toﬂna,s. ouad
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Give one use for the mineral chromite and name one area where it is extracted in

Pakistan.
o . Used T (iBereut @etonfes ond Sued dusteehvily.
Area C}\Q\%Od’ Il .12l
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(ii) What are the benefits of extracting mineral resources for local people and the national

economy?

be_bene t0te o8 o xtvacking | mineqal secousaes
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(iii) Explam the effects of mineral extraction on the natural environment.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(¢) (i} Fig.5 is adiagram of a thermal power station.

Lranslorwey -
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transmission

F——_:'l ¥ linoe
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warm water cool water
cool water |
( Tubine | )
Fig.5

Choose three terms from the list below and use them to label the diagram in three of the
spaces provided.

reservoir transformer boiler turbine cooling tower steam [3]

(ii) Explain why burning fossil fuels in power stations is unsustainable.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(d)

Pakistan Railways now carry less than 10 percent of Pakistan's passenger traffic and
5 percent of its freight. :

To what extent is it possible to develop railways further in Pakistan? Support your answer by
using examples you have studied.
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — low

(2a)(i) For this answer, more careful reading of the question was needed. The key requirement was to
calculate how much iron ore was extracted and to give an amount. The candidate needed to look at the bar
chart which showed the amounts being extracted, make the calculation and then provide the numerical value
showing the correct units. One answer only was required.

Mark awarded = 0 out of 1

(2a)(ii) The correct answer was provided in the form of ‘tonnes’ and ‘percentages’. A variety of correct
responses were awarded credit in the mark scheme. This was to allow for the different words that candidates
could use to describe the same concepts.

Mark awarded =1 out of 1

(2b)(i) Here the candidate tells us the places where chromite is used, but not what the use is, as required by
the question. The candidate was also unable to identify any of the correct extraction areas, i.e.
‘Muslimbagh/Zhob (Valley)/Wad’. Candidates generally need to be more accurate when naming the different
areas of Pakistan where different activities take place.

Mark awarded = 0 out of 1

(2b)(ii) One mark was awarded for the idea of reducing imports (‘extracting minerals rather than importing it
from other countries’). Two more marks could have been awarded if the candidate had been more specific.
For example, stating which minerals could be used to make things that would benefit the local people and
being clearer about how reducing imports benefits the economy (reducing the national debt, for example).

Mark awarded =1 out of 1

(2b)(iii) The candidate was able to name a type of pollution, but more details and development of ideas were
needed to gain marks. The candidate needed to say how the noise pollution was created, how the air
pollution was caused, what kind of waste was not being disposed of properly and what was happening to the
natural environment because of this.

Mark awarded =1 out of 4

(2c)(i) Two marks were awarded here for ‘transformer’ and ‘boiler’. More reflection on the processes that
take place at a thermal power station would have gained the third mark.

Mark awarded = 2 out of 3

(2c)(ii) A better understanding of the ideas around sustainability would have helped the candidate gain a
mark. The candidate clearly understands that ‘unsustainable’ describes something that cannot be continued
for a long time, but not how this relates specifically to resources and to ecology. They could have included an
explanation of why there will be a lack of resources for power stations (because fossil fuels are non-
renewable).

Mark awarded = 0 out of 4

PAST PAPERS
INS IDE
92 Cambridge O Level Pakistan Studies 2059 Your education hub



Paper 2 — The environment of Pakistan

Examiner comment — low, continued

(2d) With further development here, the candidate could have gained credit at Level 2, three marks, instead
of the Level 1. The basic ideas are there; for example, the reasons why it is a problem to develop the
railways further in Pakistan — the lack of finance, the lack of government support, the lack of other resources.
However, these all need explanation to take the response into Level 2. The response could have been
developed by saying, ‘It will cost a lot of money to develop the railways in Pakistan, and because the
government has to prioritise other projects, it is not possible for the government to invest in them because
they don’t have enough money for everything’.

Mark awarded = 1 out of 6

Total marks awarded = 6 out of 25
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Paper 2 — The environment of Pakistan
Question 3

Example candidate response — high

3 (a) Study Fig. 6 which gives information about the area of Pakistan under cultivation.

Key:
cultivated area
(as a percent of total area)

| over 65

| 35465

5-34

under 5

........ international boundary
disputed boundary

---<= provincial boundary

400

Fig.6

(i) A. Name a district that has a cultivated area of over 65%.
e ISR e e m et e ee s en s es e senneen
B. How much of Faisalabad District is cultivated?

(ii) Suggest reasons why so many districts of Pakistan have a cultivated area of less than 5%. °
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(iii) Explain why agricultural land is no longer producing crops in many regions of Pakistan.
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(b) Study Fig. 7 which gives information about urban and rural population in Pakistan in two
different years.

1981 2010
0% 0%
80%

20% 80% 20%

Orural
Elurban

40% 60%

Fig. 7
(i) By how much has the rural population decreased between 1981 and 2010?
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(ii) Loss of agricultural land is one reason for the rural population decreasing. Describe
three other push factors that are causing people to move to urban areas.
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(iii) Explain the effects on rural areas when large amounts of people migrate to urban areas.
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(e¢) Study Fig. 8 which is a graph showing the changes in population density for different provinces
between 1972 and 2011.

500

450
400 //,
350 / ,.-.‘,.-. .
population 300 / .f":‘. ~— Punjab
density 250 —— e Khyber Pakhtunkhwa
(people/km?)  5q — = +=+ Sindh
150 e --=-- Balochistan

100==
50

0‘1_- T T 1
1972 1985 1008 2011
Fig. 8

Describe two of the main changes over time that can be seen in this graph.
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Paper 2 — The environment of Pakistan
Example candidate response — high, continued

(d) Read the following two views:

The Government should - The Govérnment should spend
spend more money on more money on development
development projects in the projects in the more densely
least densely populated populated provinces. More people
province in Pakistan, live there.
This province is behind in
development.

/)

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.
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Paper 2 — The environment of Pakistan
Examiner comment — high

(3a)(i)(A) Lahore was the most popular answer, but unfortunately it's not correct. A few candidates were able
to identify, from the map, a district that has a cultivated area of over 65%, and most of them gave Gujranwala
or Multan. This suggests that candidates need to become more familiar with the location of places within
Pakistan.

(3a)(i)(B) The candidate correctly identified Faisalabad District on the map and noted from the key that the
cultivated area was 35-65%, gaining one mark for this. When candidates did not give the percentage unit

they were not awarded the mark, because the question was ‘How much of’ so the answer needed to be in

terms of a percentage, a share or a proportion.

Mark awarded =1 out of 2

(3a)(ii) The candidate gained two marks for correctly identifying ‘mountains’ and ‘deserts’. However, the
answer focused on settlements away from rivers, rather than the reason why so many districts of Pakistan
have a cultivated area of less than 5%. The thrust of the answer was that these areas have little water, and if
the candidate had developed the idea of places being away from rivers, a further mark could have been
gained. More careful reading of the question would have led to a more directed response, gaining the full
marks available.

It would not have been correct to give lack of irrigation, waterlogging and salinity as the reasons why so
many districts of Pakistan have cultivated areas of less than 5%. Equally, talking about ‘less rainfall’ without
including something against which ‘less’ could be compared could not be credited as we have to ask the
question, ‘less than what'?

Mark awarded = 2 out of 3

(3a)(iii) The candidate was credited for correctly talking about ‘overcultivation’, that the growing of crops on
the same land again and again without a break depletes the minerals in soil. There was potentially another
mark in the first sentence about land use, where the candidate could have stated that land formerly used for
agriculture is now used for housing or industry. None of the ideas about farmers in the last three and a half
lines are creditable.

Many candidates gave good developed responses to this question, particularly around waterlogging and
salinity. Candidates in the high range also talked about alternative uses for land, the migration of the
workforce and problems with landlords

Mark awarded =1 out of 4

(3b)(i) In common with the vast majority of candidates, the correct answer was given and gained one mark.
Very few candidates omitted the unit (%).

Mark awarded = 1 out of 1

(3b)(ii) This was very well answered, gaining maximum marks. Three push factors, those that force people to
move to urban regions, were given: ‘do not have/provide good services such as hospitals’, ‘low income’,
‘water, electricity and gas are mostly unavailable’.

Some candidates focused on pull factors (reasons why people are attracted to something) and so couldn’t be
credited. Some candidates needed to be more careful about the qualifying words they used; for example
they wrote about ‘no schools’ in rural areas, rather than about the quality of the schools, and so couldn’t be
credited.

Mark awarded = 3 out of 3
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Paper 2 — The environment of Pakistan
Examiner comment — high, continued

(3b)(iii) This question was answered well and was awarded three marks. The points were explained and
developed, giving a good illustration of what happens when large numbers of people migrate to urban areas.

This candidate also mentioned the positive effect on rural areas of remittances being sent back by the
migrants who find work. Many candidates needed to think beyond ‘decrease in population’ (which wasn’t
credited) and reduction in agricultural activity/output. Some candidates responded by talking about the
effects on urban areas, which, after analysis of both this question and question (b)(ii), suggests that
candidates need to have a clearer idea about the definitions of urban, rural and push and pull factors.

Mark awarded = 3 out of 4

(3c) This question asks the candidate to describe two of the main changes over time, so the examiner is
looking for major trends and patterns that span the entire period of the graph, from 1972 to 2011. The
candidate breaks down the time period into phases, which does not illustrate a main change, and repeats
ideas. This response couldn’t be credited. The examiner was looking for ‘All four have increased’, ‘Punjab
KPK and Sindh all increased at a fast rate/the same rate’ and ‘Balochistan increased at a slow rate.’

Mark awarded = 0 out of 2

(3d) This type of question requires the candidate to provide a developed response that addresses both
points of view and makes a clear evaluation. This response had the potential to reach Level 3 as the points
made were clear, well developed and well organised. However, only one view was addressed — the first
view, so the marks awarded were Level 2, three marks, which is the maximum that can be awarded when
only one view is addressed. With an equally well-developed opposing view, along with evaluation and
examples, this response would have reached the top of Level 3. This was a similar situation for many other
candidates.

Mark awarded = 3 out of 6

Total marks awarded = 14 out of 25
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Paper 2 — The environment of Pakistan
Example candidate response — middle

3 (a) Study Fig. 6 which gives information about the area of Pakistan under cultivation.

N . —
e — -

Key:
cultivated area
(as a percent of total area)

over 65

35-65

e

under 5

.~—.—.. international boundary
disputed boundary

----- provincial boundary

Fig.6
(i) A. Name a district that has a cultivated area of over 65%.

Bvad ok

B. How much of Faisalabad District is cultivated?

(i) Suggest reasons why so many districts of Pakistan have a cultivated area of less than 5%.

..... Recaase. & e land ob- *hezpe_ o»&az

B oounknineaVs, meeat; Meett aneos,
e vsok®y Sooofle o lowa.
\(mv&r‘au_ is -%WLM&, \a,c)\& “aQ— exy,

o outeam Noulle Mo offe L

)

PAST PAPERS
INSIDE
100 Cambridge O Level Pakistan Studies 2059 education hub



Paper 2 — The environment of Pakistan
Example candidate response — middle, continued

(iiiy Explain why agricultural land is no longer producing crops in many regions of Pakistan.
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(b) Study Fig. 7 which gives information about urban and rural population in Pakistan in two
different years.
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1981 2010
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Fig.7

(i) By how much has the rural population decreased between 1981 and 20107
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(ii) Loss of agricultural land is one reason for the rural population decreasing. Describe
three other push factors that are causing people to move to urban areas.
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Paper 2 — The environment of Pakistan
Example candidate response — middle, continued
(ili) Explain the effects on rural areas when large amounts of people migrate to urban areas.
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(¢) Study Fig. 8 which is a graph showing the changes in popdiation.density for different provinces
between 1972 and 2011.
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Fig. 8

Describe two of the main changes over time that can be seen in this graph. Hren
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(d) Read the following two views:

The Government should R The Government should spend
spend more money on more money on development
development projects in the projects in the more densely
least densely populated populated provinces. More people
province in Pakistan. live there.
This province is behind in
development.

_/

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.
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Paper 2 — The environment of Pakistan
Examiner comment — middle

(3a)(i)(A) The candidate was right in identifying a district, Sialkot, but this was too far east to be a cultivated
area of over 65%. Gujranwala to the west would have gained the mark for this.

(3a)(i)(B) The candidate correctly identified Faisalabad District on the map and noted from the key that the
cultivated area was 35-65%, gaining one mark for this.

Mark awarded = 1 out of 2

(3a)(ii) This question about the physical geography of Pakistan was very well answered; a concise,
comprehensive response noting that these districts of cultivation of less than 5% are barren, mountainous
and have low rainfall. Correct terminology was also used.

Mark awarded = 3 out of 3

(3a)(iii) The candidate focused on one reason why agricultural land is no longer producing crops in many
regions of Pakistan: the lack of water from rainfall and irrigation linked to climate change. This needed
developing to consider the factors which cause land to no longer produce crops. As a result, no part of the
response could be credited. However, the candidate had taken the right approach in writing the response as
a series of points and reasons. This is what puts candidates into the ‘good’, rather than the ‘high’ range.
However, more focused and thoughtful development of points specifically relevant to the question is
necessary.

Mark awarded = 0 out of 4

(3b)(i) In common with the vast majority of candidates, the correct answer was given and gained one mark.
Very few candidates omitted the unit (%) here.

Mark awarded =1 out of 1

(3b)(ii) The candidate accurately listed three push factors: unemployment, drought and lack of income, and
included some relevant extra information. This candidate started off by making the same mistake as many
other candidates, i.e. giving pull factors, but recognised their mistake and went on to gain the three marks.

Mark awarded = 3 out of 3

(3b)(iii) More thoughtful development beyond simply mentioning reduced population density in the area was
needed. A mark could have been gained if the candidate had thought about the effects of this, for example,
less pressure on resources and infrastructure. A mark was awarded for stating that fewer people are
available work on farms. Another mark could have been awarded if the candidate had developed the last
point about ‘less number of crops experienced’. The candidate could have gone on to say ‘with fewer people
to work on the farms, there may be less agriculture’ or ‘the burden of work at harvest time increases for the
people left behind'.

Mark awarded =1 out of 4

PAST PAPERS
INS IDE
104 Cambridge O Level Pakistan Studies 2059 Your education hub



Paper 2 — The environment of Pakistan
Examiner comment — middle, continued

(3c) Marks could have been gained here with a more precise answer, using the language associated with
the analysis of tables, graphs and charts. The candidate needed to direct the response more carefully
towards the question — the main changes over time — taking a starting point of 1972 and ending in 2011. The
candidate has read the key correctly, identified the provinces correctly on the graph, and recognised that
there has been a change over time related to Sindh and Khyber Pakhtunkhwa. The candidate needed to say
‘Sindh had a lower population density than KPK in 1972, but now, in 2011, it has a higher population density
than KPK.’ This could be written more concisely as ‘Over time, Sindh has become more densely populated
that KPK.’

The second point is not a main change, but something which has remained the same throughout the time
period. The candidate would have gained a mark here if they had read the question more carefully and
focused on the changes over time affecting all the four provinces. They could have stated that the population
increased in all four provinces or noted that three had rapid increases and one a much slower increase.

Mark awarded = 0 out of 2

(3d) Much of the response was taken up with repeating the question material, and, although the candidate
identified an appropriate province (Balochistan), the response continued with an explanation of why it is less
densely populated, which is not the focus of the question. The part of the response that is relevant to the
question begins on the third line from the end: ‘If the government spends more money in developing this
province then people will have job opportunities and they will migrate to Balochistan to live’. The idea is a
good one, but it is not developed and so the response was awarded Level 1, one mark. With development of
ideas, the response would have reached Level 2, three marks. This would have been the maximum mark as
this candidate has concentrated on only one point of view. An undeveloped point addressing the other point
of view in a similar way would have seen the candidate achieving a Level 1, two marks.

The candidate could have talked about people migrating from the more densely populated provinces, which
helps to balance the rural and urban populations. This would have given the development needed to take the
response into Level 2.

Mark awarded = 1 out of 6

Total marks awarded = 10 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — low

3 (a) Study Fig. 6 which gives information about the area of Pakistan under cultivation.

~
N B

%

Key:

cultivated area

(as a percent of total area)
over 65
35-65

/ / / 5-34
under 5

.———. international boundary
disputed boundary

_____ provincial boundary

400

Fig. 6

(i) A. Name a district that has a cultivated area of over 65%.
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B. How much of Faisalabad District is cultivated?

(i) Suggest reasons why so many districts of Pakistan have a cultivated area of less than 5%.
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Paper 2 — The environment of Pakistan
Example candidate response — low, continued
(iii) Explain why agricultural land is no longer producing crops in many regions of Pakistan.
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(b) Study Fig. 7 which gives |nformat|on about urban and rural population in Pakistan in two
different years.

1981 2010
0% 0%
80%

20% 80% 20%

Orural
Ourban

40% 60%

Fig.7
(i) By how much has the rural population decreased between 1981 and 2010?

(ii) Loss of agricultural land is one reason for the rural population decreasing. Describe
three other push factors that are causing people to move to urban areas.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(iiiy Explain-the effects on rural areas when large amounts of people migrate to urban areas.
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(c) Study Fig. 8 which is a graph showing the changes in population density for different provinces
between 1972 and 2011.
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Fig. 8

Describe two of the main changes over time that can be seen in this graph.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(d) Read the following two views:

The Government should
spend more money on
development projects in the
least densely populated
province in Pakistan.

This province is behind in
development.

/

The Government should spend
more money on development
projects in the more densely
populated provinces. More people
live there.

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.

T.advee wNa. Wen e s\edemont.or. v‘\tm)-
'T\Mw \(&a«f‘hé

<k Co(—tb(((& '

[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — low
(3a)(i)(A) Lahore was the most popular answer but unfortunately it is not correct.

(3a)(i)(B) The candidate correctly identified Faisalabad District on the map and noted from the key that the
cultivated area was 35-65%, gaining one mark for this.

Mark awarded =1 out of 2

(3a)(ii) The candidate demonstrated a good knowledge of the provinces that would likely have a cultivated
area of less than 5%, and identified that the answer required was one based on physical factors. However,
the language used needed to be more precise. Rather than talk about land being uneven, they needed to
say ‘hilly, mountainous or rugged’ — all of which show the area is difficult to cultivate. Instead of saying the
land is unfavourable for cultivation, they needed to say ‘the land is barren’ or ‘the soil is infertile’. Snow on its
own is not enough to make land uncultivable, but extreme cold temperatures are.

Using language that describes precisely what the candidate means, i.e. the subject-specific vocabulary
required by the syllabus, would greatly help candidates in the Pass range to improve their marks.

Mark awarded = 0 out of 3

(3a)(iii) The candidate took an approach to this question that was similar to the previous one. They
mentioned physical factors, such as dry weather, a shortage of water and extremely high temperatures. They
then moved on to talk about lack of irrigation. This demonstrated that the candidate hadn’t focused on the ‘no
longer producing crops’ element of the question. Because there was no mention of the processes or factors
that meant cultivation was no longer possible, no marks could be awarded.

Mark awarded = 0 out of 4

(3b)(i) This was correctly answered using the correct units and the candidate showed their calculation.
Mark awarded = 1 out of 1

(3b)(ii) This response demonstrated that the candidate was unclear about what was meant by push factors,
as a variety of push and pull factors were given. One mark was awarded for the candidate mentioning
‘shortage of healthcare facilities’. The candidate needed to talk about mechanisation of farms leading to
unemployment, or unemployment in rural areas, as well as poor housing to gain another two marks.

Mark awarded = 1 out of 1

(3b)(iii) There were hints of ideas in this answer that with more direction and precision could have gained
credit. For example, if the candidate had said ‘lack of skilled labour/fewer farmers to look after the land’ this
would have gained a mark. If they had said that there could be a ‘lack of government interest in the
development of rural areas’ this would also have gained a mark. In the response of candidates in the Pass
range, there is often some underlying knowledge; it is vaguely expressed and undeveloped to gain credit.

Marks awarded = 0 out of 4
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Paper 2 — The environment of Pakistan
Examiner comment — low, continued

(3c) If this response had included the rates of increase for Punjab and Balochistan, the candidate would
have gained both marks. However, their answer focused on the end point of the graph, the figures for 2011,
rather than noting a fast rate of increase for Punjab and a slow rate of increase for Balochistan. The
candidate focused on the two provinces that were most markedly different on the graph, so there is some
indication that they were looking for main differences.

Mark awarded = 0 out of 2

(3d) The candidate developed their answer around rural-urban migration and the problems this caused the
migrants, and how development of the less densely populated areas would help reduce both the migrants’
problems and rural-urban migration. However, because only one point of view was addressed with
developed ideas, the response was awarded Level 2, three marks. If the candidate had expressed and
developed ideas that addressed the second point of view, they would have been credited Level 2, four
marks.

Mark awarded = 3 out of 6

Total marks awarded = 6 out of 25
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Paper 2 — The environment of Pa

Question 4

Kistan

Example candidate response — high

4 (a) (i) Study Fig. 9 which shows formal and informal sector employment in Pakistan over three
years.
Sector 2008-09 2009-10 2010-11
Formal 26.7 26.7 26.2
Informal 73.3 73.3 73.8
Fig. 9

Which sector of employment makes up the largest share of the labour force in Pakistan
over these years?

e SRRN0E). AN omplegenedt

(1]

(ii) Tourism is a service industry. Name two other service industries.
T T
2 Tf?m\h&x% .12]

(ifi} Study Figs 10 and 11 which give information about visitors into Pakistan in 1999.
250
200
\.20% it RS
3 visiting visitor % &
; = relativ%s "”g'oboefs B ”
7 [Obusiness (000) 1o+ o .q
= & tourists %
40% s BN 50- K3
B religious visits jé_,
i)

other

0 ; A ki
ia Other Other
Europe S Asia
Fig. 10 ~ Fig.11
‘ A. What percentage of visitors into Pakistan was classed as tourists?
Iy
B. What was the total number of visitors into Pakistan?
AN 'Y N
C. Suggest one reason why more people visited relatives compared to visiting Pakistan
as tourists.

...\ec,,r'a...\?.ec:.‘)le.Mﬁnik,..an..&nu@nh..due&n.incrm.oed Aecarmam

s
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(b) (i)

(1)

(c) ()

Study Photographs A and B (Insert) which show airports in Gilgit and Chitral.

Using the photographs and your own knowledge descrlbe the problems in providing air

" transport in the northern areas.of Pakistan.

Df:\rrbave\o?m mn’"\’m'ﬂﬁ%ﬁ\ft Inodhemaveas. in. Aifiolt.
Aue.o. yugqed. \mdsca:ge, and. naukinlbe. )co?di"ﬂ.e“y‘}}’

POAINTINOIE O¥cas, A B, EYRNANT.. -hadwﬁp&% ol 'h'qmsfn(t ;
Do, demand fn. 00k, h?%\'m "'{DT . ’Warv\smsrt Q. PEORLE....
eoxn \eo cemen.omd. hare. 0 low 'J'DMQVJ ‘},Qﬂﬁ”ﬁ "
mﬁkma.m&m?ﬂfttncmmﬁhmnor%etnqvm ............ (3]

Explain the advantages io Pakistan. as a developing country of providing more air
transport routes.

Vroviding mere. o, .%Wt rouler enaleler Simulakes. trode.
reauktiog i bether gexbolance & ggﬁnwenfb yc&\lﬂ’w' SGreseDmedtic
?méus:.h W e incvraoe:. a0, weMiAleo tndudondn. MLLQ\?E:(\LL?-W
mLL)..mu.ﬁd..m..mnr&.&bs.b&m%.mz..hﬂdﬁ.h\&mmm
tondd Mo canich. ot o dbmck ovedoent s ewamn. ...
Wmm\ncwne){y‘“'\&b@a\n

ueiL!;.il:g.n..mm.m-.a.m.%m...&hndnd..ﬂ..ﬁkmﬂ.jmﬁm.mé

- %Mhmoww&dnn\%e%ﬂcmum [4]

Name or describe a border crossing by road between Pakistan and a neighbouring
country. Which country islinked to Pakistan by this road? .

Border crossing . Kgfa‘aamm H huwal
'i\

Country . Chma. crtrereanreneesaeaseserrerasinesreenaesarsrerares | 2]

Q PAST PAPERS
INSIDE
otfon hub Cambridge O Level Pakistan Studies 2059 113



Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(ii) How useful is the border crossing you have named or described in (i) for trade? Give
" reasons for your answer.

e Devder Ovassitn g Y UAZ%J a2 i increnaco...
'\Yo.de. Aot C.\r\mgj—mdmck vead.{n. Cheager. and....
3s.o.Neille. 'r\'wm ﬂrf\wam?ait Tom.witl be. he.na%fttmﬂ
5(!:9( 8. asth. Ae. counlbies.ar. skondand. % Ging il icrance
ﬁof The. cizers, omd. mor...ceudd. boe. ewortﬁé Ca‘ﬂndwl-mtj\?'l‘t
Q\NPﬂ(ikemnh&e&Eﬁu&r'Dxplomoﬁacmhmedm .......
\m?mmé&mmémmtm?oh&mmmmmjeh
M%MWM%TﬂMWEM&- ............. 4]

(d) There are advantages and disadvantages to Pakistan of trading with different countries or
groups of countries. .

Read the following two views:

Pakistan would benefit There are more advantages
- from stronger trade links to Pakistan in maintaining
with China. trade with EU (European

Union) countries.

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.

Theve. aue. voore. adﬂquv-am b Yauhtam. .. mmtcuw&hp}"q’ndenﬁ)\
ED comnbn. cvaMin. hﬁLfs Yoboton. cﬁe‘éiv\% ctena. A wfdev mackets:
'ba‘m\m@& (’Qﬁwﬂnj_o pesibien.io.. vavfc! tﬂ‘ﬂxﬁmu’xbsj ......
Mﬁo:’pnea Sade.cenld e deona,.. LuLUr\ \ews. sendBons hencs......
mcmmm& internctzemal. wﬂ;hm%’ﬂ«acﬁmea
%fcdﬂacmcﬁ sexvizes. Chamies. 4..wox. 5. Neen. vedued swids Qe
Lmrun Mowerer, Xallhtnm. woud. b%eaax’hmm s&T
'\mde Mhomoﬁ«%mm-ac}vno.n A, mnah\:au\bﬂwx o,rd .....
it 3a.cheagen. gx\é Covvpataat. Ao Sevelspbade. Links ...
Chion: T aeearyiudn. . s{;:&.tmexdn ek sowsSthote.
Owg... NONT... adVWm Ao Yokivtan m. mﬁwﬂ Aade.Widb
. v Wadem. Conmbnien. aa.. dareodemm on.ohex...
mww%w?mm OO

[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — high

(4a)(i) In common with the vast majority of the candidates the answer given was correct, and awarded one
mark.

Mark awarded = 1 out of 1

(4a)(ii) Two correct answers were given for two marks. A wide range of service industries were named by
candidates, demonstrating there was good understanding of what constitute services and the service sector.

Mark awarded = 2 out of 2
(4a)(iii)(A) This was clearly answered, with the correct figure and units given.

(4a)(iii)(B) The correct number of 000s was given to the basic calculation of 659 to give a total of 659 000.
This demonstrates that the candidate had read the axis label carefully.

(4a)(iii)(C) Again, a clear, correct response here gives the candidate the maximum number of three marks
overall.

Generally, candidates answered parts (A) and (C) well, giving the correct figure within tolerance and units at
(A) and a variety of valid reasons, such as ‘people work abroad and return to Pakistan to visit relatives.’
Fewer candidates gave a correct answer for (B), with many candidates omitting the 000s from the visitor
numbers, which meant they didn’t get the mark.

Mark awarded = 3 out of 3

(4b)(i) The candidate identified that it is difficult to develop air transport in northern areas because of the
mountains and was awarded a mark for this. More focus on what the specific problems were in providing air
transport in the northern areas of Pakistan was needed here to gain the other two marks. The wording in the
question, in conjunction with Photographs A and B in the Insert, should have directed the candidate towards
problems caused by the physical geography and logistical issues, rather than general economic problems
(although lack of funds for specified air transport improvements or new technology would have gained a
mark).

Mark awarded =1 out of 3

(4b)(ii) This was well answered and provides a very good example of the level of ability of those candidates
in the high range. A key word in this question was more air transport routes, so ideas around ‘increasing’
should feature here. The candidate talks about ‘stimulating trade’, ‘more businessmen’ taking trips, ‘attract
investment’ ‘tourism might increase’, thereby earning the full four marks available for this question. Other
good points here were ‘more income for the locals’ and ‘more foreign exchange’. The possibility that the
provision of more air transport routes might affect the balance of payments and the Gross Domestic Product
is more complex, and a development too far in this instance, so these points were not credited on the mark
scheme for this question.

Most candidates gave precise and directed responses to this question, often talking about the types of
products that could be exported, and candidates in the high range covered a wide range of points that were
creditable on the mark scheme.

Mark awarded = 4 out of 4

(4c)(i) The border crossings were generally well known by candidates, with the Karakoram Highway and
China the response most often given. Most candidates did well here, and this candidate was awarded the full
two marks for their response.

Mark awarded = 2 out of 2
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Paper 2 — The environment of Pakistan
Examiner comment — high, continued

(4c)(ii) The candidate needed to evaluate how useful the crossing was to gain a reserved mark, so this could
not be credited. The candidate did explain the other areas of the response, noting that trading by road is
‘cheaper’, that trade would ‘increase’ and that diplomatic relations would ‘improve’, thus gaining three marks.

Most of the candidates were positive about the benefits of the border crossings, particularly those that
named the Karakoram Highway and China. Few candidates mentioned in connection with this crossing that
the road was blocked/closed in winter.

Mark awarded = 3 out of 4

(4d) The candidate gave a developed argument that addressed the advantages to Pakistan of maintaining
trade with China. They were able to offer some evaluation: ‘there are more advantages to Pakistan in
maintaining trade with European countries’. If there had been a developed argument that addressed the
second statement about the benefits to Pakistan of having stronger trade links with the EU, rather than a
series of undeveloped ideas, or ideas which were not completely valid ‘free trade could be done with less
sanctions’, then the response would have been awarded Level 3. As it stands, the maximum mark that can
be achieved is Level 2, three marks, because of the lack of developed argument addressing the second
point of view. Development could have taken the form of ‘the balance of payments is improved because
Pakistan is able to export a number of different goods, such as sports goods and cotton textiles in large
quantities, to a very large European market, which also means it does not depend on one country for its
export sales.’.

Mark awarded = 3 out of 6

Total marks awarded = 19 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — middle

4 (a) (i) Study Fig. 9 which shows formal and informal sector employment in Pakistan over three

years.
Sector 2008-09 2009-10 201011
Formal 26.7 26.7 26.2
Informal 73.3 73.3 73.8

Fig. 9

Which sector of employment makes up the largest share of the labour force in Pakistan
over these years?

LN 77 N £ )

(ii) Tourism is a service industry. Name two other service industries.

2 T"’QY\&QQ‘(\'B]
(iii) Study Figs 10 and 11 which give information.about visitors into Pakistan in 1999.
250
200
20% i
visitin by
= relatlvges mzano%‘:*;rs
[ business 100+
B3 tourists
50
religious visits
other 0- L '
Other Indla Other Other
Europe S Asia
Fig. 10 Fig. 11

A. What percentage of visitors into Pakistan was classed as tourists?

e s

B. What was the total number of visitors into Pakistan?

C. Suggest one reason why more people visited relatives compared to visiting Pakistan

as tourists.
S becouse

The . mand......peopte... Q0. ndk.. come...95.a.. ounst.
L poRiskon.... &wﬁ \'9 SECMI'B B2 130 - [3]
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Paper 2 — The environment of Pakistan
Example candidate response — middle, continued
(b) (i) Study Photographs A and B (Insert) which show airports in Gilgit and Chitral.

Using the photographs and your own knowledge describe the problems in providing air
transport in the northern areas of Pakistan.

T\qctjmmn-apm\:iamlwl’oneg\*“wmwn
..\.ng....ia..........’.rb.t.s.k.......hxﬁe.\.f.....@z....A.b.iq.cl:’.z....plgm:é......cgum.{:
ond e becaune s Yos dmall s Nob gy
pzo@emmmebos\ wror. Cwval . dulto.
.....\r.maek........c:.\imkh.g........cgmAiHQns.-......he.......emptq.....in,.,..ai.\ﬁih..
...9!....66.\'.&?9)&.....Qm....9.99.!...‘t:».e:r‘;l@....mg\'\.f.\):a....S.Q....ﬂﬁ.ﬂ.‘....,‘(r&!’.\.ml'.ﬂﬁg!‘ 3

(i) Explain the advantages to Pakistan as a developing country of providing. more air
transport routes.

\&\sapw&okcm\m\q&\qs@mmﬁﬁ
\%\%V\%mwcomchuu\'ove}ml%&mmﬁ,
PLOPE..... COE....... 0. O YOS o Q0L
oW Yo avina o Yvading. . NaRe il countn
.. eurooe.. hida . Qoo have... 0. cea: oo
oo O a2l I LMY 0% A - P\ORGS...
Come. ... P50 Youxes.......couldbe vecieud.

O e TA]

(c) (i) Name or describe a border crossing by road between Pakistan and a neighbouring
country. Which country is linked to Pakistan by this road? ’

Border crossing \CQYQhQVQM\’Na\’\WQB

Country ()’ﬁ’\& SRR e w[2]
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(ij) How useful is the border crossing you have named or described in (i) for trade? Give
reasons for your answer.

o uned e Jor bodding . e
paRison . whnida..... Al ok R
i vood . Dso. be. . Yov.. aelna iter
..... Wodina,...ov..expoviiva..ema Yo e (hibese
pru\fh\}{@w\\'cqvxdbﬁdsol«is@&"o
Nn.m\mmab o ddaben with e ond
mcomhﬂq%tﬁwa&rﬁw“ﬂ\rwi"q\ﬁo
...c..cm.......a\s.g..........&.e......M....'.t?;........w.gnk.....ko....\.r.ufg.@.o\.r.-.,...u.,ixha..[e;]

Russio.
(d) There are advantages and disadvantages to Pakistan of trading with different countries or
groups of countries.

Read the following.two views:

Pakistan would benefit There are more advantages
from stronger trade links to Pakistan in maintaining
with China. ' trade with EU (European
Union) countries.

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.

fquw\c\k«wﬁv&q\vm\n%es¥em\1\s¥qn
Wodes......ciMa.... europon..... cOuies. .. econse... et 0k,
mgvcmm{wo}rcouh‘rm’s\m\:m&aut\h\’r
....cma\.&............!a.c.,...........g\m.........t.»!s5.3.&:.41.........lto.\:.......mgi.n’m'\ni}ta.....%o.gé.
v‘ﬁ\q\wonm&’hkmOmckmq;n\rqwms=3t

YRt M Mt AR T Ot YES
Lo we W Y Yeea il

Rk O W pakisa ok
wbﬁ&Q\s&tha\a\ﬁhec%vaA&bffmm
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — middle
(4a)(i) In common with the vast majority of the candidates the answer given was correct.
Mark awarded = 1 out of 1

(4a)(ii) Two correct answers were given here for two marks. A very wide range of service industries were
named by candidates from telecommunications to repairs, demonstrating a good understanding of what
constitute services and the service sector.

Mark awarded = 2 out of 2
(4a)(iii)(A) This was clearly answered, with the correct figure and units being given.

(4a)(iii)(B) This response was a good example of where the candidate had made a correct calculation, but
needed to have looked more carefully at the axis label to give a correct answer of 650 000.

(4a)(iii)(C) This response was clear and correct.
Mark awarded = 2 out of 3

(4b)(i) One mark was awarded here for the idea that the size of the runway/closeness of the mountains
restricted access to anything but small aircraft. The candidate needed to refer more to Photographs A and B
in the Insert to describe more problems connected to the physical geography and logistical issues, rather
than to local economic problems.

Mark awarded =1 out of 3

(4b)(ii) One mark was awarded for the point about taxes. A key word in this question was providing more air
transport routes, so ideas around ‘increasing’ should be mentioned. Two additional marks could have been
awarded if the candidate had said ‘more people can come as tourists’ and ‘more trade can be done with
European countries’. Careful reading of the question might have enabled the candidate to earn more marks.

Mark awarded = 1 out of 4

(4c)(i) In this case the border crossings were generally well known by candidates, with the Karakoram
Highway and China the response most often given. Most candidates did well here, and this candidate was
awarded the full two marks for their response.

Marks awarded = 2 out of 2

(4c)(ii) This answer needed to include an evaluation of how useful the crossing was. Stating that the
crossing increases trade and improves relations would have covered this and would have gained two marks.
Another mark would have been awarded if the candidate had named goods that were imported/exported
using the border.

Mark awarded = 0 out of 4

(4d) The candidate included some developed points that addressed the advantages to Pakistan of
maintaining trade with EU countries. They were also able to give some evaluation: ‘There would be more
advantages if Pakistan trades with European countries’. If there had been a developed argument that
addressed the second statement about the benefits to Pakistan of having stronger trade links with China,
then the response would have been marked at Level 3. As it stands, the maximum mark that can be
achieved is Level 2, three marks.

Mark awarded = 3 out of 6

Total marks awarded = 12 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — low

4 (a) (i) Study Fig. 9 which shows formal and informal sector employment in Pakistan over threa

years.
Sector 2008-09 2009-10 2010-11
Formal 26.7 26.7 26.2
Informal 73.3 73.3 73.8

Fig.9

Which sector of empldyment makes up the largest share of the labour force in Pakistan
over these years?

Jnbamal

.......... 1]
(ii) Tourism is a service industry. Name two other service industries.
e oo LR RN PO IMBEEHOARENC AR
ol an rw% 2
(iii) Study Figs 10 and 11 w['ttch give information about visitors into Pakistan in 1999.
250
200
20% Wallllinsn
oS, nmbers
[ business {000) 100+
& tourists
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@ other o ol %14 :
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Fig. 10 _ Fig. 11

A. What percentage of visitors into'Pakistan was classed as tourists?

e (68 Oy

B. What was the total number of visitors into Pakistan? ~

LiD— €€

C. Suggest one reason why more people visited relatives compared to visiting Pakistan

as tourists
oy ey g Taﬁy%
3]

Mmtiomﬁ
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(b) (i) Study Photographs A and B (Insert) which show airports in Gilgit and Chitral.

Using the photographs and your own knowledge describe the problems in providing air
transport in the northern areas of Pakistan.

Puofdria afi fortpal & U i auas 4 tarkom %

ondl dBjffulr beasse Moy Jphove 06 Mjnal avesge of

@ topuicts 40 gud rﬁmr S puvolily & foon”
w?hb&uw?camﬁux uarafmﬁ%uammm .

> I il q,ua,l" sgmzm{au whitt. also du éz( uu

Vha ub,fn na §16 Yo 6 1y i

(il Explain the advantages to Pakistan as a developmg country of providing more air
transport routes.

action ¥ o MgNy gtbudosled pop datld wonlly oud Madta
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..................

.........................................
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(c) (i) Name or describe a border crossing by road between Pakistan and a neighbouring
country. Which country is linked to Pakistan by this road?

Border Crossing ....ecciessssenssasinnans

Country ﬂbﬂ“}\ﬁﬂfﬁrﬂ'ﬁ btesestberesssbesessnstatesanasesasbaateasranerrRRaae e brnsassenrnanas veeereens[2]
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(ii) How useful is the border crossing you have named or described in (i) for trade? Give

reasons for your answer
P bodu Cwmi i Haranlian @ neoer b(,-.-‘
%chﬂnk" Pt?cd % Wm btwwxf,

(’A@T’M mﬂ?m have
mww oL Ipmaifr, udaIQBM

&LM wmwm bwﬁ th
% mufwa gmct Eaﬂamq OB ol

(d) There are advaniages and disadvantages to Pakistan of trading with different countries or
groups of countries.

Read the following two views:

Pakistan would benefit There are more advantages
from stronger trade links to Pakistan in maintaining
with China. trade with EU (European

Union) countries.

Which view do you agree with more? Give reasons and refer to places or examples you have
studied to support your answer.
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Paper 2 — The environment of Pakistan

Examiner comment — low

(4a)(i) In common with the vast majority of the candidates the answer given was correct.
Mark awarded = 1 out of 1

(4a)(ii) Here, examples of primary industries were given and so no marks could be awarded.
Mark awarded = 0 out of 2

(4a)(iii)(A) The candidate was not able to correctly calculate the correct percentage.

(4a)(iii)(B) A mark could have been awarded as the candidate had made the correct calculation. However
they needed to look more carefully at the axis label to give a correct answer of 650 — 655 000.

(4a)(iii)(C) One mark was awarded as the candidate gave a good explanation: people who go to work in
other countries and then come back to visit relatives.

Mark awarded =1 out of 3

(4b)(i) This response shows that the candidate had a good knowledge of the weather conditions in the
northern areas of Pakistan, but needed to direct that knowledge more closely to the question. One mark was
credited for the ‘great snowfall’. The candidate needed to refer more to Photographs A and B in the Insert to
describe more problems that were connected to the physical geography of the northern areas of Pakistan
and the logistics of air transport there.

Mark awarded =1 out of 3

(4b)(ii) A mark was awarded for identifying the ‘increase in the number of people visiting Pakistan’. However,
the remainder of the response needed to be more directly linked to the question. The focus is on how
providing more air routes could be an advantage to Pakistan as a developing country. We are therefore
primarily dealing with the economic advantages of air travel. General description will not result in marks
being credited, so statements such as ‘more air transport routes will bring great efficiency to the country’s
economy’ need to include much more specific content, such as ‘more air transport routes will result in more
business deals/more trade/more opportunities to export’.

Mark awarded = 1 out of 4

(4c)(i) The candidate was unable to correctly identify a crossing and associated country.

Mark awarded = 0 out of 2

(4c)(ii) Although the name of the border crossing by road with Afghanistan was not correct, the candidate
was still able to gain marks here. Two marks were awarded, one for the idea of poor trading relations relating
from security issues and one for the idea that friendly relations might come about if trading is possible. A
further mark would have been awarded if the candidate had said how useful or otherwise the border crossing

was.

Mark awarded = 2 out of 4
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Paper 2 — The environment of Pakistan
Examiner comment — low, continued

(4d) There are one or two undeveloped but valid and relevant statements here, which address the idea that
Pakistan would benefit from stronger trade links with China. The remainder of the response consists of
general description and is not focused sufficiently on the question. The statement at the end of the answer,
which addresses the point of view about Pakistan and EU countries is slightly confused and so can’t be
taken into account. The response is awarded Level 1, one mark. Another mark would have been awarded if
some development had been added to the idea of friendly relations and trade via the Karakoram Highway,
for example ‘both countries share friendly relations and so goods that are not produced in Pakistan can be
imported from China via the Karakoram Highway.’

Mark awarded = 1 out of 6

Total marks awarded = 7 out of 25

@ PAST PAPERS
INSIDE
~ Your education hub Cambridge O Level Pakistan Studies 2059 125



Paper 2 — The environment of Pakistan

Question 5
Example candidate response — high

5 (a) Study Fig. 12 which gives information on birth rates and death rates in Pakistan.
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Fig. 12
(i) On Fig. 12: .
A. Add a suitable label for the y-axis (vertical axis).

B. Circle one of the letters C, D, or E on the graph to show the point where natural
increase is highest. [2]

(ii) Give two reasons why Pakistan continues to have a high birth rate.
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(iii) The death rate in Pakistan has been decreasing every year since 1960. Suggest reasons
for this.

foclber ond cune of diceaser ke cholero
_ond__molotio - Necedver, due. o, Yhe  Voprovement

.......................................................................................................................................

Qiseaes being. Dean Beley Bonpert Jocliky for
\tanS})o"\a\im St dockr einds vwaases -

@ PAST PAPERS
INSIDE
126 Cambridge O Level Pakistan Studies 2059 Your education hub




Paper 2 — The environment of Pakistan
Example candidate response — high, continued

(b) Study Fig. 13 which shéws changes in population growth rates for two countries between
2000 and 2012,

25
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Fig. 13

(i) Compare the main changes in the population growth rate of Pakistan with that of
Sri Lanka between these two dates.
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Paper 2 — The environment of Pakistan
Example candidate response — high, continued

(ii) One of the factors affecting population growth is international migration. in recent years.
Pakistan has experienced more emigration than immigration.

A. What is meant by the term ‘immigration’?

B. Explain what has caused high levels of emigration and the effects of this on the
economy of Pakistan.
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(¢) (i) Whatis meant by the term ‘sustainable population growth’?
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(if) Suggest three problems that might be caused by unsustaihatﬁ!é population growth.
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Paper 2 — The environment of Pakistan

Example candidate response — high, continued

(d) Read the following two views about reducing the population growth rate in. Pakistan.

The population growth rate is The population growth rate is
best reduced by family planning best reduced by increasing
programmes: literacy for all, especially
females.

-

Which view do you agree with more? Give reasons and refer to examples you have studied
from Pakistan to support your answer.
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Paper 2 — The environment of Pakistan
Examiner comment — high

(5a)(i) The candidate was not able to correctly label the y-axis, with ‘per 1000 population (per year) or
‘average births and deaths per 1000 people’. They also did not gain the mark for identifying ‘D’ as the point
where the natural increase is the highest.

Mark awarded = 0 out of 2

(5a)(ii) Two marks were given here for clear explanations as to why Pakistan continues to have a high birth
rate. Overall, candidates demonstrated a good knowledge of the various reasons for this.

Mark awarded = 2 out of 2

(5a)(iii) Full marks were given here because the candidate gave four reasons why the death rate has been
decreasing since 1960, for example: ‘better medical facilities’, ‘cure of diseases like cholera’ and
‘improvement in sanitation facilities’. The majority of candidates commented on improvements in health care
and improvements in food and hygiene, as well as the reduction in infant mortality, demonstrating a thorough
knowledge of this area.

Mark awarded = 3 out of 3

(5b)(i) The candidate should have given more accurate figures for the start and end population growth rates
for Pakistan and Sri Lanka to gain a mark. The question asks for a comparison of the main changes between
the two dates. Candidates did not need to mention other dates within the overall range of 2000 to 2012, or
break the overall range into shorter time periods, or give a description of every change or trend within those
shorter time periods. Better data interpretation skills would result in an improvement in the responses to
questions that address Assessment Objective 4 of the syllabus.

Mark awarded = 0 out of 3

(5b)(ii) This is an example of a good candidate who has confused ‘immigration’ (the movement of people
into a country) and ‘emigration’ (the movement of people out of a country). Unfortunately, it is therefore not
possible to credit any points in the response, although the candidate shows a good understanding of the
problems involved when people move from one country/area to another.

Mark awarded = 0 out of 5

(5¢)(i) This response could have earned a mark had it contained more development and thought. The
candidate clearly understood that sustainable population growth was concerned with the relationship
between population growth and the environment. More specific mention of issues such as use of resources
could have been made; those candidates that referred to resources in their answer invariably gained the
mark. Common errors such as ‘population remains the same’, ‘population doesn’t overburden the economy
or ‘population can keep growing’ demonstrate that improve knowledge of the importance of sustainable
development (which is a theme across Paper 2) is needed.

’

Mark awarded = 0 out of 1

(5¢)(ii) This was a very good response with attention being paid to the idea that social, economic and
environmental problems increase: ‘more katchi abadi and squatter settlements’, ‘less resources available’,
an ‘increase in the rate of crime’ and ‘clearance of forest to make roads and homes’. All three marks were
awarded.

Candidates who just mentioned ‘unemployment’ or ‘crime’ or ‘housing problems’ could not be credited,
because these are all problems which exist in a society which is not experiencing unsustainable population
growth.

Mark awarded = 3 out of 3
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Paper 2 — The environment of Pakistan

Examiner comment — high, continued

(5d) This is a good example of a response awarded Level 3, six marks. There are developed statements
addressing both points of view. There is clear evaluation: ‘| agree that by increasing literacy for everyone will
be the best idea’, and the content of the response supports this evaluation. There are also examples given of
family planning programmes. The argument is presented clearly in an organised way.

Of all the part (d) questions, this question elicited the best answers. More candidates addressed both points
of view with developed ideas than for other similar questions in the rest of the paper, and good examples
were included. This meant that candidates were able to access the higher marks through the evaluation of
two developed points of view.

Mark awarded = 6 out of 6

Total marks awarded = 14 out of 25
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Paper 2 — The environment of Pakistan

Example candidate response — middle

5 (a) Study Fig. 12 which gives information on birth rates and death rates in Pakistan.
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Fig. 12
(i) On Fig. 12:
A. Add a suitable label for the y-axis (vertical axis).

B. Circle one of the letters C, D, or E on the graph to show the point where natural
increase is highest. [2]

(ii) Give two reasons why Pakistan continues to have a high birth rate.
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(iii) The death rate in Pakistan has been decreasing every year since 1960. Suggest reasons
for this.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(b) Study Fig. 13 which shows changes in population growth rates for two countries between

2000 and 2012.
2.5
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(%) 1 7
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Fig. 13

(i) Compare the main changes in the population growth rate of Pakistan with that of
Sri Lanka between these two dates.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(i) One of the factors affecting population growth is international migration. In recent years
Pakistan has experienced more emigration than immigration.

A.  What is meant by the term ‘immigration’?

MQ\L&A% A0 O, YL, 0. OMONaes.. X nNOC QLM
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B. Explain what has cause hlgh levels of emigration and the effects of this on the

economy of Pakistan.
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{c) (i) Whatis meant by the term ‘sustainable population growth’?
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(ii) Suggest three problems that might be caused by unsustainable population growth.
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Paper 2 — The environment of Pakistan

Example candidate response — middle, continued

(d) Read the following two views about reducing the population growth rate in Pakistan.

=/

The population growth rate is The population growth rate is
best reduced by family planning best reduced by increasing
programmes.

literacy for all, especially
females.

Which view do you agree with more? Give reasons and refer to examples you have studied
from Pakistan o support your answer.
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Paper 2 — The environment of Pakistan
Examiner comment — middle

(5a)(i) The candidate was not able to correctly label the y-axis, with ‘per 1000 population (per year) or
‘average births and deaths per 1000 people’. This candidate also was not able to gain the mark for
identifying ‘D’ as the point where the natural increase is the highest.

Mark awarded = 0 out of 2

(5a)(ii) Two marks were awarded for saying that children are a source of income for people in rural areas
and that family planning programmes have little effect in Pakistan.

Mark awarded = 2 out of 2

(5a)(iii) A mark, or even two, could have been awarded here if the candidate had developed their ideas
around ‘awareness of disease has spread across Pakistan’ and directed their response more closely to the
question. It is not awareness of disease that has seen the death rate decreasing, but the curing of disease. If
the candidate had named one of the diseases that had been cured, then two marks would have been gained.

Mark awarded = 0 out of 3

(5b)(i) This question asks for a comparison of the main changes between the two dates. The candidate
approaches the reading of the graph in a similar way to many other candidates, without focusing directly on
the question. Candidates did not need to mention other dates within the overall range of 2000 to 2012, or
break the overall range into shorter time periods, or give a description of every change or trend within those
shorter time periods, and could not be credited for this.

Mark awarded = 0 out of 3

(5b)(ii) The candidate needed a clearer understanding of the terms ‘immigration’ and ‘emigration’ to answer
this question correctly. They also needed to read the contextual sentence regarding international migration
more carefully, as this would have led them away from thinking about people emigrating from other countries
to Pakistan. It was not possible to award any marks for this response.

Mark awarded = 0 out of 5
(5¢)(i) The response clearly states the link between population and resources and the mark can be awarded.
Mark awarded = 1 out of 1

(5¢)(ii) This is a very good response with attention being paid to the idea that social, economic and
environmental problems increase. The candidate has shown this through points such as: ‘increased need for
education and medical centres would put a burden on the economy’, ‘rapid deforestation’, and a mismatch
between population and resources available. All three marks could be awarded here.

Mark awarded = 3 out of 3

5(d) This is a very good example of a Level 3 response. There are developed arguments addressing both
points of view, and a clear evaluation. For example: ‘The population growth is best reduced by increasing
literacy for all, is the view | agree with more’. This candidate has also organised the content so that it
supports the evaluation, demonstrating that they have thought about their response before writing it. The
concluding sentence confirms the evaluation made at the beginning of the response. This response was
awarded Level 3, five marks, and would have gained Level 3, six marks, if examples had been used,
perhaps of the family planning programmes in Pakistan.

Mark awarded = 5 out of 6

Total marks awarded = 11 out of 25
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Example candidate response —

Paper 2 — The environment of Pakistan

5 (a) Study Fig. 12 which gives information on birth rates and death rates in Pakistan.
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Fig. 12
On Fig. 12:
A. Add a suitable label for the y-axis (vertical axis).

B. Circle one of the letters C, D, or E on the graph to show the point where natural
increase is highest. [2]

Give two reasons why Pakistan continues to have a high birth rate.
1 TReie.cve. m-&nmkg-lma&e}(%a—n%m wisded)...
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The death rate in Pakistan has been decreasing every year since 1960. Suggest reasons
for this.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(b) Study Fig. 13 which shows changes in-population growth rates for two countries between
2000 and 2012.
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Fig. 13

() Compare the main changes in the population growth rate of Pakistan with that of
Sri Lanka between these two dates.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(i) One of the factors affecting population growth is international migration. In recent years. .
Pakistan has experienced more emigration than immigration.

A. What is meant by the term ‘immigration’? -

B. Explain what has caused high levels of emigration and the effects of this on the
economy of Pakistan.
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(c) (i) Whatis meant by the term ‘sustainable population growth"?
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(iiy Suggest three problems that might be caused by unsustainable populatlon growth.
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Paper 2 — The environment of Pakistan

Example candidate response — low, continued

(d) Read the following two views about reducing the population growth rate in-Pakistan.

The population growth rate is The population growth rate is
best reduced by family planning . best reduced by increasing
programmes. literacy for all, especially
females.

Which view-do you-agree with more? Give reasons and refer to examples you have studied
from Pakistan to support your answer.,
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[Total: 25]
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Paper 2 — The environment of Pakistan
Examiner comment — low

(5a)(i) This candidate was unable to correctly label the y-axis, with ‘per 1000 population (per year) or
‘average births and deaths per 1000 people’. They were also unable to gain the mark for identifying ‘D’ as
the point where the natural increase is the highest.

Mark awarded = 0 out of 2

(5a)(ii) The response needed to be more specific to gain the two marks. It is not that ‘no’ family planning is
being provided to people, rather that there is opposition to it. Similarly, lack of education in the country is not
enough; the candidate needed to say that some people are not educated/are illiterate and so are unaware of
population pressure/family planning programmes, etc.

Mark awarded = 0 out of 2

(5a)(iii) Two marks were awarded for the points about better health and sanitation facilities; it is the
improvement that’s important here. A further mark could have been gained if the candidate had developed
their ideas around malnutrition to talk about how malnutrition was being dealt with, e.g. improvements in food
production.

Mark awarded = 2 out of 3

(5b)(i) The candidate did not need to mention other dates within the overall range of 2000 to 2012, or break
the overall range into shorter time periods and could not be credited if they did, because the question is
asking about the main changes in population growth between the two dates, 2000 to 2012. Although the
candidate is correct in using comparative language (greater than, lower than), the content of the response
was not clear. The candidate needed to say ‘ Pakistan is higher than Sri Lanka throughout’ or ‘Pakistan has
decreased overall, but Sri Lanka stays the same’. Greater accuracy in the reading of the start and finish
figures for both countries (‘Pakistan 2.2% in 2000 and 1.6% in 2012’ rather than ‘above 2’ and ‘almost 1.5’
and the mention of ‘decreased in 2010’, for example) would have seen a mark awarded.

Mark awarded = 0 out of 3

(5b)(ii)(A) This was a good explanation of the term ‘immigration’.

(5b)(ii)(B) The candidate made a good point about the reasons for high levels of emigration: ‘the lack of
security provided to residents’. To gain more marks, the candidate needed to be more specific about the
‘lack of facilities’ and how this caused the high levels of emigration. They could have said that people are
attracted by the better health and education available abroad, and gained a mark. Greater expansion on the
idea of ‘in recent years Pakistan’s economy has gone down’ could have led the candidate to talk about the
lack of jobs in Pakistan and gaining a further mark.

Mark awarded = 2 out of 5

(5¢)(i) The candidate has an idea of what the term means, although the expression of this was limited by the
candidate’s lack of subject-specific vocabulary. No marks could be awarded here.

Mark awarded = 0 out of 1

(5¢)(ii) A better understanding of the term ‘unsustainable population growth’ would have helped the
candidate to provide a response that was more directed to the question. No marks could be awarded here.

Mark awarded = 0 out of 3
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Paper 2 — The environment of Pakistan
Examiner comment — low, continued

(5d) There is one relevant point in this response (many people living in Pakistan are illiterate), which
addresses the first point of view, but the point isn’t developed. The candidate needs to tell us why illiteracy
makes it difficult for family planning programmes to work, e.g. ‘many people living in Pakistan are illiterate, so
do not understand the flyers/leaflets given out by family planning programmes’. The candidate says about
the other point of view ‘literacy amongst women would be beneficial for their children and for the family also’.
As the point made is not directed to the question, it cannot be awarded a mark. The response is awarded a
Level 1, one mark.

Mark awarded = 1 out of 6

Total marks awarded = 5 out of 25
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